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10.
1.

This Question Booklet contains 100 items (questions).
Each item is printed in Hindi and English and shall have
five options (A, B, C, D and E). If a candidate is attempting
a question, he has to darken most appropriate circle from
A, B, C or D. However if you are not attempting a question
then you have to darken the circle ‘E’ below #. If none of
the five circle is darkened, one-fourth (0.25) marks shall
be deducted.

Any candidate not darkening any of the five circles in
more than 10% question shall be disqualified.

All questions are compulsory. Each question carry
one mark. For each wrong Answer, one fourth (0.25)
mark shall be deducted.

You have to mark all your responses ONLY on the
separate OMR Answer Sheet provided. See directions in
the OMR Answer Sheet Use only BLUE/BLACK Ball
Point Pen to answer in OMR Answer Sheet.

Before you proceed to mark in the OMR Answer Sheet
the response to various items in the Test Booklet, you
have to fill in some particulars in the OMR Answer Sheet
as per instructions mentioned on the OMR Answer Sheet.
At the end of the examination you should handover to the
invigilator the original copy and office copy of the OMR
Sheet. You are permitted to take away with you the
Question Booklet along with candidate’'s copy of the OMR
Sheet.

Sheets for rough work are appended in the Test Booklet
at the end.

In case of any ambiguity in translation of any question,
English version shall be treated as final.

P.T.Q.
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Seven boxes P, Q, R, S, T, U and V are kept one over the other but not necessarily in the
same order. Only four boxes are kept between R and S. Only three boxes are. kept between
Q and T. V 1s kept at one of the position above P, but not immediately abové P.)'i is kept at
one of the positions above V. Only two boxes are kept between S and U HDW maﬂy boxes

are kept between R and P? T
(A) Three (B) Two P
(C) None (D) Four

PN
. -:.

(E) Question not attempted

g P, Q, R, S, T, U 3T V U%h g6 % SIL W ™ &, wmmmuﬁﬁﬁﬂﬁé’f?@ﬂﬁél[&
@RS%Eﬁﬁmqmqltﬁ?@rT@ﬂﬁ%lQ@RTﬁaﬁﬂﬂﬁﬁﬁ?ﬁ’fﬁrﬁ@ﬂﬁ%lv P%wﬁﬁz@m

P & <19 foha 99 BT 7

(A) & (B)éim S

neng,hb{}urs of B face a direction ﬁppasﬂ@tn that of B, E sits to the lmmedlate left of G. Only
three people sit between E andA D slts second to the right of A. D faces outside. D 1s not
an immediate neighbour of B F frces inside. How many people sit between E and H, when

counted from the left of E*?' j
(A) One F ol (B) Two
(C) Three :& m (D) Four

(E) Question mzit attemspted

%qgﬂlmlim%ﬁﬁaﬂ’{ﬁx B,C,D,E,F, G3aRHES ¥ 1 9% a1 Al %5 Bl AR Y& Hlh 981
¥ a1 b % fofoeg (@R 1 3110 | H, G % Tl i q@rt 9 v a1 | H 3t B % i thawt o1
T F1C, I%Eﬁr@?@%mﬂaﬁr%m & SeEN oA AR B s fe @ 398, G
ﬁiaﬁmaﬁﬁ‘aﬁ'{Eé‘ﬁ—sr%lE@TA%@HW%@W%%M#M@TWWHHTD%
%l[}mg'éwa?refr{%l[} B @1 dehTd YSiEl T8l ¢ | F 315X %1 X 4 & 91 ¢ | E & 9} 3iX
ﬁﬁ‘r‘%ﬁ‘ﬁﬁﬂf{aﬁEaﬂ‘{H%ﬁﬁﬁlmm ZTeRT BT 7

(€)ri (D) =T
(E) i wed
M9 0 2 P. IO
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Each of A, B, C, D, E, F and G visited a museum on different days of a week starting from
Mﬂnday and ending on Sunday of the same week. Only three peaple visited l;letgv&en C and

one person visited be‘mfeen F and C. Who visited the museum on Wedtg_esd?y ‘?
(A) G (B) B o
(©) D (D) C
(E) Question not attempted

A.B.C.D. E. F@ﬂTGm@ﬁW%ﬁﬁﬁﬁﬁﬁWﬁgﬁmWﬁiﬁ%W
%@%mzl(?ﬁnﬁ%wﬁ?aﬁﬂ%@%wlﬁﬁnD%ﬁmaﬁm%ﬁﬁ@%mnG A % A TE
¥ T A afrET o Tt 1 7 F % g wed Earm F ORrE @ St 1 F ot C %
T U § i W @ T | AR BT I GURTAT AT

(A) G (B) B,
(C) D (D)E C """ :?
2 ;% i

ﬂm}r :}f the bulldmg 18 numbered 1 Lhe floor abﬂve it, number 2 and so on nll the topmost
floor 1s numbered 8. K lives on anngven nxmbered floor. Only three people live between K
and Q. N lives immediately abﬁ{fe"ﬁ“but immediately below M, J lives immediately above
L. J does not live on an odd numbexeﬁl floor. More than two people live between R and K.

J lives on one of the ﬂﬂﬂrs: ‘belmn; K. How many people live between L and P?
(A) None (B) Two
(C) Four (D) Three

B,
:

(E) Question nc}t attemptéd

J, K, L, M, N, PQ@TR@%W%WWH{ ®d ¥ ge9 A gren i
| 599, 39F ﬁHtCII?IIZﬂﬂ{@f =dl YehTY G SUEATH Tt ol 8 Fe¢ f&am a7 % | K a9 A9
WWW%IK%Q%WW%WE@(%IN P % gid SUT @fted M % gia =i ardl
qﬁaw‘iﬁﬁ%u L & i SUarel Afsre a¥ (@l @ | J 31l Gem arel Hista T @dl 781 ¢ | R 3
Kﬁﬁma‘r@mmmﬁ%mﬁﬁﬁﬁm%qﬁﬁrWJﬁm%lLﬁmPaarrmmﬁahmﬁ

aﬁﬂ"ﬁ% %
(A)aﬁéﬁaﬁ (B) ar
(E) srgaiea ued
M9 0 3 P.T.O).
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Study the following information and answer the given question.

P,Q,R,S, T, U, Vand W are sitting around a square table. Some of them afesiltmg at the
COTNErs Whl]E some are 51ttmg at the exact centre of the sides. The ones 51ttmg at tbe centre

and the one who likes green. Q sits second to the left (}f the t;;:me :whu::r lIkES green. R likes
orange. The one who likes black sits to the immediate rlght of R ,@nly three people sit
between V and S. Neither V nor S likes black. V is not anf 1rﬁmedlate neighbour of Q. The
one who likes grey sits to the immediate right of the gne whﬂ Fikes purple. W sits to the

immediate left of P. More than one person sits between pui‘ple and yellow.

How many pe::}ple sit between the one whm hke& green and ‘rhe one who likes Pink, when

......

|||||||

(A) One fB) TWG
vy
(C) Three "% (D) *Four

(E) Question not attempted
Frafaiaa g &1 st &k o 11'3‘““?13‘:[ T T GIfeTd |

||||||||||||

P.Q.R.S.T. U, v@nwwwm%wma—&%@mﬁﬁa@%m@mm
%wﬁ%%%ﬁa%w%mﬁ%aﬁﬁﬁmw TS, AT, G SFLAT BT H § T THE B
%lﬁﬁlﬁﬁiaﬁﬁﬁamwwﬂﬂuwﬂ%ﬂ ST, T STET AT3 H 9 Udh U6g Hhidl o |

Uéﬁlﬂfﬁaﬂ%f{aﬂ%aﬁTﬁWWﬂﬁ%tUaﬂT%ﬁ%WTﬁW%ﬁ%ﬁﬁﬁﬂaﬂﬁéﬁEﬁﬂ
%%lwmmﬁmﬁﬁﬁa@@r{@rzﬂ%mﬁ Q &1 | R & TGN T 96T ¢ | % Al foid e
T 9HE &, eﬁR%wﬂm%%lvms%ﬁaﬁameﬁwﬁn%%lVaﬂTSaﬁmwm
THAEIV, Q%wwmﬁ%lwmmm%ﬁﬁmmmmﬁ%wﬁﬁaﬁ?
%‘a%tP%Wﬂ@ﬁﬁmwﬁa%lﬂﬂﬁﬁtﬁﬁwéﬁww%mﬁnﬁﬁﬂ%%l

WWW@RWT’TWQ}M qrell &% S 9 &, 99 Al 84 T 968 % a1l & arl S}

9 sj&“‘aﬁ’r ST E ?
(&)t’rﬂ;f?? (B) &l
(E) argafta wes
M9 0 4 P.TC)
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6  Twelve people are sitting in two parallel rows, such that each person in a row faces other
person in the opposition row. In Row I-A, B, C, D, E and F are sitting facmg nﬂrth and 1n
Row II-J, K, L, M, N and O are sitting facmg south. .

More than two people sit between M and K. M faces an immediate ne1ghb0u1 ﬂﬁgi: Only
three people sit between F and D. A sits to the immediate left of C. Nmm&r Anor C is an
immediate neighbour of F. Only two people sit between M and L. N faces E. O Sl'[S at one of
the positions to the right of J. O faces neither F nor d. G

How many people sit between the one who faces K and E?

(A) None (B) 3

(€C) 2 (D) 1

(E) Question not attempted
W&ﬁﬂﬁﬂﬁﬁmwﬁ@%%%mwﬁ%ﬁwmqﬁw%ﬁaﬁ%mﬁﬁ
H¥% 93 21 HAX 1 4 A, B, C, D, Eaf‘rrFa—rras“ra{ﬁgamaa 43 & &t
Hwar-11% 1, K, L, M, Ne?ru)afamﬁraﬂwggaﬂ%saﬁ%r

M aﬁ'{Kﬁsmﬁ@raﬁmaﬁfﬁ%MW@%F%WH@@@%W%IF@HD%WW
& &l 4 ¥ 1 C % i Tl 3 Ader¥1 A i C, B g weiel 11 ¥ | M iR L % wear el &
@ a8 ¥ IN, E % | g %3 o181 0, Jﬁﬁm?ﬁ’raﬁ‘{@wq'{aﬁr%lo F 3l D &% 9+ g8

K@TE%W‘@EW%W%%WW%%?
(A) 7 ' Ss
(E) orgared wem ,?

||||||

DEHt]E or are facm;_j > outside (ﬂgpﬂsna to the centre).

Only two people sit between €, and E G sits third to the left of E. Only three people sit
between G and B. Both G anid B face a direction opposite to that of E. A sits to the immediate
rlght of G D sits third tn the ngjﬁ ﬂf A. F sits third to the left 'Df . Bnth the immediate

face outside. Who sits, thm:l i:@ the right of H?

(A) A g (B) G
(c) b (D) B
(E) QuES‘[lﬂtl nnt attempted

......

wﬁ@rg(ﬁmﬁsﬁw)%l
CGﬁTE%WWﬁFﬁﬂ%%IE%WGﬁTWEﬁWG%%IGGﬂ'{Bﬁimﬂaﬁﬁfﬁﬁ
aﬁw%%rﬁﬁmBa’m‘rEﬂaﬁﬁﬁwﬁga H{b 98 ¢ | G % T H T 31T A 92151 A & Il
HIT AT AT D 391 ¥1 C % TR ol drat @ o F a1 31 D % sraar < wer D ¥ ge
%! g Tegm & % ¥ 1 H, B @t g e g % do1 ¥ 1 H a8t # 3i 4z &k T8 Jo1 2|
:::Hwaam?ﬁ%fr{ﬁﬁﬁwwwfﬁaaﬁm?

(A) A (B) G
(€).+D (D) B
(E) aﬁﬁlﬁﬁ 91
M9 0 5 P.TLC).
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8  Twelve people sit in two parallel rows. In Row [-A.B.C.D.E and F sit facing towards north
(but not necessarily 1n the same order) and in Row II-P Q R.S.T and U sit faging towards
south (but not necessarily in the same order). Each person in a row faces a person in the
other row. A sits at the left end of the row. Only two people sit between A and B. B faces an
immediate neighbour of U. Only two people sit between U and T. P sifs*te the imimediate
left of Q. Q dDES not 51t at an extreme end . Q faces an munedlate nf-:lghbﬂﬂr c-f C. U does

Wh{} fac:es R. D 1s not an immediate nmghbﬂur of B. Who faces F‘}
(A) Q (B) P
) R (D) U
(E) Question not attempted :
ﬁHHlﬂlﬂ{mﬂI(ﬁmFﬁ‘T%%IWlﬁ A, B.C, D, EaﬁIFﬁ'{EﬁTﬂﬂ'{ & &b 96 ¢ (T&d

&l fb TUM B H 96 &) st war-11 7 P, Q, R, S TGﬂ'{Ua‘@Wﬁrﬁﬁ'{ amtm%%(ﬁ“@_ﬂﬂé’r
ﬁﬁwmﬁr%—&ﬁ)lwaﬁna‘»mmﬁﬁmﬂgqeﬂw%aﬁﬁaﬁm%mw%w
BT 3T @ 9 | A 31X B % 5t hael ol @i 99 & | By U @7 o 92l & g do1 %1 U 8l
T % 9T had al AT S & | P, Q%aﬁﬂaﬁTWﬁ%a%rQaTﬁ-rmﬁTﬁﬂﬁaa%lQ C & 97
ITel TSrE! & A g1 8| U, C & 9 781 93181 C & g =18 & E &1 %1 R % 9/ 98 =i
GﬂTC%Wﬂﬁﬁﬁrﬁma‘%%lBﬂawmqlﬁlﬂ@’lﬁ[}ﬁﬁrﬁl

F & 9 &\ 937 8 7 o y
(A) Q {B)\ P,
(C) R £ (D) i
(E) g 9o

9  The question consists of a statement ﬁﬂ}ﬁﬂwed ﬁy two arguments [ and II. Read the statement
and the arguments carefully and Sﬂfﬂpt the appropriate answer from the given options.
Statement : C hlldt‘f‘:]‘l derive their lderm;y from their surname.

surname or the mother’s or to tise any at all.

Argument (II) : Many pareﬂfs wigh'to bring up their children without teaching them about
belonging to a particular réli gion and have given up on their surnames to avoid the sense of
belﬂngmg, to a partmular com.mufuty

(D) Both (I) anﬁ,l%(ll) str engthen the statement.

(E) Question. not attempted

39 W9 % U By b 418 &l adb 1 o 11 53 7 ¥ | et ik ol &l e | ufed ofiR 6 1 ferepei
¥ § W wag gty

HI Elﬁ‘ai'ﬁrq'@"ﬂﬁ o AT H UT B 8

e (1) s smgl I,W—ﬁmwgﬁmﬁ‘{%ﬁ% o5 % Tt &1 ST YA &< 91 9T &I 91 Bl o7 |
H%(H) ﬁw—ﬁmaﬁﬁﬁ%ﬁ%@%wa%aﬁﬁ%ﬁ%%ﬁﬁww~
qﬁwwam%%aﬂ'{m&a mwaﬁtﬁgéﬁ% dTies I 71 UaT Ol 6 9% Tohd 99 § Gaid & |
(A).. (I}Wtﬁ% (11) ncn ml CEEGRCEIR 3

(B) {ll) HHSATL ST (I) nm %) HSTEA Sl T

), AT (1) ST (1) T 1 BT BTl &

|||||||

(E) arana gsd

M9_0 6 P.T.O.
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10 Avin, Mandar, Sarang, Sarfaraz, Balram and Samir are six friends who have invested 1n
E‘lthEI‘ Mutual Funds or Fixed Deposits or both. Only two friends have not invested in
Mutual Funds. Balram has invested in Mutual Funds and also Fixed Dep@mm nly one
other friend has invested in both Mutual Funds and Fixed Deposits. Sarang has not invested
in Mutual Funds. Samir does not have Fixed Deposits. Sarfaraz has mvested in ofily one of

the two. Mandar has invested in only Fixed Deposits. S N
Who other than Balram has invested 1n both Mutual Funds and Fl}r‘;ggl,,[)epamfs?
(A) Samir (B) Sarfaraz

(C) Avin (D) Mandar R

.'.':'5':5':'11

(E) Question not attempted
A, HaAR, WIET, G, TAH 30 G Y B ﬁﬂmﬁﬂqmwmﬁﬂmﬁwmaﬁ?ﬁﬁ
9T B & | g '-hEnaTChqmﬁpfﬁilﬂﬁlaﬂ:lﬁm%lﬂﬂ(ljﬂ%&ﬂ%ﬁimﬂmmﬁ‘Iﬁ
ﬁﬁﬂmml%lmqm o o Tt oA o a9 @ & | | 16t s PTAST 18T Y & 1 TN %
T Fra S AR ¥ | WS A A B U A Py sl | Herg e arat st frast st
2 | IO % ST B YA S Gﬂ'{mﬁfﬁwﬁﬁﬁaﬂw%?

(A) (B) wXwiE,,,
(C) sfferT (D) #ER
(E) \-ﬂ_:l,ﬂﬁﬁ g |

11 Three departments of a gaming company, viz, F{R :Production and Marketing are looked
over by their CEO, Mr. Trivikram. The VF‘ Uf thef c%mpany Mr. Avmash reports only to the

head of Production and head of malkf:tmg departments report to Mr. Avinash. Shivani and
Deepak are from the HR department The head of Art department and the head of Design
department report to Snram whu is th head of Production department. Rosy is the head of

department. Rahul IEpGI‘tS,sEtﬂ M. Avmash Sandeep 1s the head of design department. Vijay
and Nathan report tr:.} Kll‘ﬂﬂ Amﬂ; and Geeta are from Design department.

(A) Sriram ;;;5='==::_1;:::_f::::. * (B) Sﬂﬂdﬂﬂp

(C) Rahul e - -ﬂ:::’::’-'&; & (D) DEE[’JEIJ(

(E) Question not attempfed

e AR HEOT & o Rt : HR, Sere i wmeb e 9% CEO o Bifessw g amel oI ¥ | aeir
% VP & atfammg Faa CEO &Y Faie & ¥ ofit Sare ud qbfen fasmr &1 yaad & & | A R
HR%@%ﬁnaﬁﬁgﬁoﬁrﬁﬂéﬁﬁ%lﬁlﬁmﬁwﬁ%mﬁﬂrﬁmmﬁﬁﬂm%%@aﬁw
aﬂ%r%i‘s:r:’“" RepTrT T % S st &1 TX1e eaT & | were Ry air qreb i fyam &7 v o
CICEIFIE ﬁﬁ\im%lfﬁmﬁraﬂ?éﬁwHRﬁw@r% e TI4mT &7 &3 oY fewieg= faumT &1 2
Y T T 3, ST SeTeT RrHTT @ 2 ¥ | UE YITahTE R 1 3 ¥ | feeer o R #
ﬁ%lmmqﬁrﬁﬁwﬁmﬂﬁ%lweﬁ?aﬁm%aﬁﬁqﬁm%lﬂéﬁﬁaﬁ:rﬁmmam%g

(B) ddm
(D) <9®

7 P.T.O.
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12 Seven girls travel from Mumbai to either Pune, Bangalore, Indore or Kolkata by bus, train
or flight respectively. Not more than two girls travel to the same city. Only ong girl travels
by flight. Shweta and Madhura travel to the same city but by different modés of: transport.
F anah travels by train to Indore. Only one girl travels to Kﬂlkﬂta by train. Only two girls,
Madhura and Deepa travel by bus, but to different cities. Kalpana travels‘to Bﬂngalﬂre but
not by flight. Ram travels to Indore. Amruta does not travel by flight. Shwetﬁ u&es the same
mode of transport as Farrah. v
Which Girl-City-Mode of transport combination is correct? i
(A) Kalpana - Train - Bangalore (B) Madhura - Train - Pune
(C) Rani - Bus - Indore (D) Deepa - Bus ~ Kﬂlkafé )
(E) Questmn not attempted

T ASTehAT THHIT: *aé@rma‘rtﬁl A, ﬁﬂmmlﬁmldlw immﬁq'fl__”ﬂmtm{dl%lﬁ@rafﬁiﬁ

a'gﬁﬁqusﬁ ITET %1 BT Tol BT & | Had U TS5 2 eaTs FFCHT & | 93aT 3T AT Teh &l
mﬁ%m%qﬁaﬁﬁwm%lmhmﬁ?mwmﬁ%laﬁmwﬁm

anﬂchlmcm (o B A6 BT 2 | bl &l oS (ehal, AR 9 4141 &, g1, febeg) =T 918 &1 § T el

%lwwﬁﬂmwwﬁ%wmﬁlﬁﬁwwm%lmmwﬁm

2 | 9o, TE SRR ECES | Eﬁruﬂ’m Yl & |

HIT W] ASehl—ET—UEET %1 HASTT Tel & 7

(A) eI - T - ST (B)., A= T - IO

(C) T - 99 - TR {D) ' 3T - 9 - BHIwHT

(E) e we 4 v

13 Study the following data carefully and’ answm the question that follow.

Eight men from a Yoga group were &sked fof their preference of fragrances from Musky,

Woody, Aqua and Cigar and whether they used them in either Perfumes, Deodorants or

Talcum. Prasad uses deodorant, J_g:ns ‘as€s deodorant in Aqua fragrance. Only one man

amongst them used Talcum. TLIEne ‘Prasad and Vighnesh preferred a woody fragrance but

used 1t in three different ways &ac:h E.ﬂbE:IT uses deodorants. Nazem and Carlos prefer the

Cigar fragrance and use ifin two“different ways each. Only one man likes the Musky

fragrance. Eddie prefers the sameﬁag ance as Jens but does not use it in deodorants. Tuene

and Nazem do not use deoderants or Talcum.

Who amongst the ei g:,ht men. EJI‘EfEl‘S the Musky fragrance?

(A) Prasad o N (B) Vighnesh

(C) Tuene g e (D) Robert

(E) Question n(}t attemp ted

ﬁmﬁf@a%ﬁmwﬁmjmw%ﬁ 3 56% 9 Pl we 1 o S

U I GE 7 IS Afkadl | FEhl, oI, Tehdl Ue R &l e &l yrerftresar o fog g 1am o1 9m

d 3T TUE AT A1 FIRH, ST I1 2B & @uﬁaﬂﬁé‘rlméﬁmmﬂhm%lﬁm
RETIRNE R QWWW%IWQ had Ueh AT A IR SYGT fohaT | 234, HETR 3%

‘F&FﬁrﬂT‘:‘r @T%Ia?rmuﬁwé’r T TA% 3 39 AN S alih § SwRnT fea | e Seiets &

d'—lﬁdllffh{m 2 R o e fm{mm Wgﬁﬂﬁrmaﬁwéﬁ 2 @Rzﬁﬁrmﬁﬂa‘ﬁ%ﬁ@rwmﬁl

WWE&HW@H D! ATEAT & | 31, S0 @] 94l Y Bl THE HIdl & fobwg 34 SIS |

BHGIT T BT 239 SN AT SIS a1 T@ed TarT el B |

%ﬁjmaﬁmﬁrﬁﬁaﬁ?wﬁ@amm%?

TA), A9TE (B) frmar
(C) z= (D) e
(E) orgaf ged
M9 0 8 P.T.O.
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14 Study the following data carefully and answer the question that follow.
Eight men from a Yoga group were asked for their preference of fragrances.from Musky,
Woody, Aqua and Cigar and whether they used them in either Perfumes, Teﬁsdﬁmﬂts or
Talcum. Prasad uses deodorant. Jens uses deodorant in Aqua fragrance, Only ghe man

amongst them used Talcum. Tuene, Prasad and Vighnesh preferred a Wﬂudy fragrance but
used it in three different ways each. R{}bert uses deodorants. Nazem and Cgrlﬁs prefer the

G,

fragrance. Eddie prefers the same fragrance as Jens but dﬂES nﬂt use 11; m deodﬂrants Tuene
and Nazem do not use deodorants or Talcum.

Which of the following Person - Product- Fragrance cﬂmblnatmnsa is:incorrect?

(A) Eddie - Perfume - Aqua (B) Carlos - Perfume Clgazt

(C) Robert - Deodorant - Musky (D) Vlghnesg aIf.:um Woody

(E) Question not attempted

rfiaa 321 & grayHdad gied eﬁ?@%:ﬁ%ﬁﬁuﬁ o umtﬁﬁﬁl
T AT GHE % 3718 ARl § HH!, gl, ThdT U4 Wﬁ@ﬂﬁmaﬁw%mwwma@
&mmﬂmﬁrw ﬁeﬂmmﬁlmmﬂﬁmtﬁ@m@rﬁmﬁwﬂm%lwﬁ Tehd]

......

ﬁ?ﬁﬂ%@‘eﬁ@aﬁrmuﬁlwé“rmﬁm%@%Waﬂ%@rmﬁﬁmlﬁﬁé’r@ﬂmm
Sl %@fﬂaﬁﬁrwaﬁ%@rWW%

ST TR TN 78] & |
ﬁrﬁrf%rrﬁaaa:lﬁm ITE — gwﬂu‘mﬁgér@;aﬁ‘—r-mﬂaa%?
(A) =2 - TTHH - T v &y (B) WITENE - IR - RAMTT
(C) At - Helewe -waadt 7 K (D) fermier - Zrered - g2
(E) argafa e

15 A and B decide to travel ffﬂm plﬁ{;e X to place Y by bus. A has ¥ 10 with him and he finds
that 1t 1s 80% of the bus fare two.persons. B finds ¥ 3 with him and hands it over to A. In this
content which one Df fhe fDllGWlIlg statements 1s correct ?

(C) After buymg the twn tickets A will be Ieft with 50 paise.

(D) The mﬂney A'figW has is still not sufficient to buy two tickets.

(E) Questmn et gttempted
A@RBWX%%mewﬁmmwﬁrsaﬁaﬂﬁ%maatrm?lo%eﬂ'(a'ﬁtrm%ﬁﬁa“r
Eﬂﬁﬁ?ﬁﬁwﬁmaﬁmﬁ80%%|B%W?3%@TwﬁsﬁAaﬁ%ﬁmlwﬂ?ﬁﬁﬁw&ﬁﬁﬂaﬁ
A PF W HTLEN T 7

(AY-.378 A % o <1 3 ¥ 9% & oz @l % fg wara ¥

(B)., s A ot fobe wlied % form % 2 ) e @ 3

(C) § oz @l & 9w A% g 50 3 a7

B).-41 o A% urg 3t fope wliay ¥ forw waier 9 8 ¥

(E) srdita e

M9_0 9 P.T.O.
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16 A batsman played (#+2) innings and got out on all occasions. His average score in these
(n+2) innings was 29 runs and he scored 38 and 15 runs in the last two mmnas T he batsman

scored less than 38 runs in each of the first »# innings. In these » innings, hlS averaﬁe SCOTe
was 30 runs and lowest score was x runs. The smallest possible value cﬁf X g,s

(A) 2 (B) 3 .

_r:{...;-:.q.".:ﬂ e

(E) Question not attempted ’f

Ush Seoirel o (n+2) s g @Tﬁwmganlsﬂ(r@fzmﬁvﬂﬁmaﬁwm?mm
@Twﬁaﬁqﬁ‘{ﬁﬁv‘rﬁ?ﬁaﬁISWEFH??IMWGIM%HEIHHEﬁWﬁ 38 T U BH BT @I TIH
gi+a ¥ fepar 7 nsfHa A, m@mﬁﬁﬁ?30ﬁmmwﬁﬁ?xﬁm|xmwﬁaw

W % .....
(A) 2 (B) ' 3 W:::’”*e.??..iii"

L) 4 D)ily

3+ %“
17 The value of 3+

4{)&{ 43
e B) 17

© % ®) T

(E) Question not attempted / ST T

M9_0 10 P.T.O.
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18

19

20

21

A rectangular grassy plot 1s 38 m long and 32 m wide. It has a gravel path of uniform width
on the inside having an area of 600 m2. The width of the path is:

(A) 3m (B) 5m
(C) 10m (D) 18.75m
(E) Question not attempted
ek STIATHTY HT %1 HET 38 HIZT wal 31X 32 HIZX =ie & | 36 3{ay U Wﬁ@émm qor &

PoraehT ATHe 600 Az 3 | o B de & -
B3 T B) Sdex ¢ 4
(C) 10T (D) 18.75 AT,

The 5t and 9th terms of an arithmetic pmgwssmn are 7 and 13 respectively. What is the
15t term?

......

|||||||

(A) 22 ® ﬁ
(C) 55 %{D} 59
(E) Question not attempted / aﬁﬁﬁﬁ ”"}L‘Ff

|||||||||||||

Wheat 1s now being sold at< 2;’ per ng Dulmg last month, 1ts cost was < 24 per kg. Find by
how much per cent a famlly redw;@s dts consumption, so as to keep the expenditure fixed?

ﬁ@@ﬁﬂ?ﬁﬁﬁﬁﬁiﬁ@%lﬁﬁéqﬁ%mmﬁ?%ﬁﬁﬁﬁEﬁlaﬁaﬁﬁrqﬁﬁwtrﬁ‘cm
mﬁwﬁmﬁﬁﬁ%wﬁrg}%aﬁeﬁﬁm% s =g 1ad T@T 11 9 ?

(A) 10.2% Fu g F (B) 12.1%
© 123% & 4 (D) 11.1%
(E) QUESH{}H not attﬁmmed / AR 99

v “'-"3:;:,_.1‘,::”.. \;‘

45 pﬂﬂplﬂ take 18/days to dig a pond. If the pond would have to be dug in 15 days, then the
number of. pmple to be Emplﬂyed will be

(B) 54

I(C‘) 60 (D) 72

(E) Question not attempted / S9N 99T

M9_0 11 P.T.O.
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22 A motorboat moves alm‘lg a straight line path along a river bank from point A to pﬂim B. If

times 1s the actual speed of the motorboat higher than the speed of the ;rweg: ﬂﬂw‘?

% T fig AR Rig B @ W ST ¥, Rt & e o ¥ 1 2 fig T3 e ferw 1 arfa
STl o T frﬂﬁra“rﬂ?ﬁﬂ?{i’raﬁ% ﬁAﬁB%ﬁwaﬁTﬁﬂﬁmaﬁﬁmmw

3T & 7
:
A =il
o
2 3 .'I::::E:::a "
= D) = %
(C€) : g)ﬂh s

(E) Question not attempted / ST 99# f

uuuuuu

23 Slmple interest on a sum of I 123@ ﬁ::r 2 years 1s < 10 more than the 51mple interest on

...-I '5':' .....

zwaa%q? l230aﬁvﬁ1%ﬁiquwmﬂfﬁ%%rq? 1130 % =remeer st & T 10
A & | LT ST & aﬂg%ﬁ"r 2"

(A) 5% (B) 6%

(C) 8% (D) 2%

(E) Question nn.t attempt‘éd / ST 99

e E .'-.-
T

B,
:

24  Anver, 2 m deEp a\yd 45 m wide 1s flowing at the speed of 3 km per hour. The quantity of
water thgt runs info the sea per minute is:

wﬂﬁrzlﬂﬁmﬂaﬂ?fps?ﬂa#@r%eﬁ?Bﬁﬁﬁfﬁ%ﬁﬁﬂ%ﬁ%T&%twﬁuﬁrW@ﬁ
trﬁfﬁrw%

m 4560 m?> (B) 3000 m3

Q). 2700m (D) 27000 m?

|||||

(E) Question not attempted / ST T

M9_0 12 P.T.O.
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25 A stock of food is enough for 240 men for 48 days. How long will the same stock last for

160 men? s T
(A) 54 days (B) 60 days S
(C) 64 days (D) 72 days i #

(E) Question not attempted
240 amafir % foaw 48 &=t 0% We #1 Wer yai ¥ 1 9@ Yern mﬂwﬁqﬁlr%iﬁqﬁm&:ﬁaaﬁ

? 55?; }f_;:?"
(A) 54 fe= a=& ¥
(C) 64 =i a=
(E) W-ﬁﬂ- ga:l- .-'Eli::::“. _____ M:::‘::i:-_:-::::'rr.m.::::E'EE

26 The greatest number among 200, 343, 43‘5 and 524 is;:

( A) 26(1
(C) 4%

(E) Question not attempted /

&

27  The average height of thie baskfefball team A is 5 ft 11 inch and that of team B is 6 ft 2 inch.
['here are 20 player& m wa:mﬁ and 18 players in team B. The overall average height 1s-

(A) 72.42 mch L (B) 72 inch
(C) 70.22 m,ah (D) 70 inch

1I

(E) QUESMDH nﬂtﬁﬁempted

‘Tl ﬁﬂﬁﬁﬁaﬁaﬁwmigﬁllﬁ%ﬁméﬁﬁ%w@mﬁmﬁﬁﬂ%ﬁwﬁaﬁﬂa
méﬁgﬁzﬁ%@mﬂrzﬂﬁm@ramfmﬁﬁlﬂﬁwé’r%lwaﬁaﬁwmms%—

M(A} 72 42 %3 (B) 7234
(C) ??0 2259 (D) 70%=
(E)_.J. e
M9_0 13 P.T.O.
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28 Atwo digit number 1s five times the sum of its digits. If 9 1s added to the number, the digits
interchange their positions. The sum of digits of the number 1s : '

@@lﬂﬂ%ﬂ%ﬂ@ﬂ@%@ﬂﬁ%ﬂﬁﬁﬁﬁ%lﬂ%@ﬁ??ﬁg%mm% a‘rmq-;&ﬂmm

(A) 1 1 (B) 9 _E?i::?mll::;::'::l'.:.__:__ %,H
©) 7 D) 6
(E) Question not attempted / SN T ,,

- :5"
"t'n -

29 The product of Rajeev’s age 5 years ago with his age ,9 years hﬁnce( both 1 years) 1s 15.
Rajeev’s present age 1s: '

':-.::.:_

(A) 6 years (B) 8 years st

(C) 9 years (D) lﬂyﬁars

''''''''''

(E) Question not attempted

Saﬁ%ﬁmﬁﬂaﬁmﬁ9ﬂﬁfmmaﬁmiﬁaﬁﬁ)mw15%|Gﬁﬁ%aﬁﬂﬁ
YT :

(A) 6 'Y (i%.r.) g o
(C) 9= oo P (D) 107

ey

::::':E"\:‘:_
2

30 Walking at % of his &ﬁuai spéed a man 18 IE hours late. His usual time to cover the same

distance (in hﬂurs) is -

aﬁﬂmﬁﬁf«% H%Trﬁi%ﬂﬁﬁtr{w e %Ei%é‘ﬁ“@r e V&1 & |39 U Bl ad BT I ST
«s?

W@ﬂ(‘fﬁf{ﬁ}%—

(A)ﬁ:‘li (B)

© D) 3

(E) Question not attempted / 3TN U

M9_0 14 P.T.O.

Downloaded from www.cclchapter.com (¥ scanned with OKEN Scanner



31 Study the graph below that shows the consumption of different packaging materials by the

Food and Beverage industry and answer the question that given below : ? ::

W9 @1 AL Aoy | f 3

. Food Beverages

38.8
38.8

40 -
35 A
30 -

25 -

& 00 | e ;s
20 - u'j : ﬁ i
= i
.
15 - ! : 5
P

20 4
o J

lron

7.4
Aluminium -

s o ol i
.-::"":‘ T _":'__;.-

|||||||||||

T a9 a?rﬁ‘ué%f:‘g;rq?m feher WICTOTT eBiel ehl WIUT BT SEIHT BT 7
(A) 40£

(E) Questmu not attempted / 3TTART 997

M9_0 1 P.T.O.
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32 Study the following graph and answer the question given below it.

Ay fw T St @ eremae ST el R R weT @1 sat e

. Fﬂc}d BEUE rages .-::::'I:Iﬁ:r:-':";:. -‘:1-':::':;':r-:-:-‘.'-:::l.

38.8
38.8

40 -
35 -
30 -
25 -
20 -

16.8

15 1
20
D

o
L T
R T
i

7.4
Aluminium -

Approximately hﬂwmtmh per cent more plastic was used than iron for packaging food

items?

QT g% Bl fi‘-‘lTZ{x‘rﬂ%‘a?rgmrilfr TITHI Teha™ U9 31T WIRE® BT S B3l 7

peke?
A
1:: g

aa 5 .I-_--_-
%

iy,
#

R

(E) Question not attempted / ST 99T

M9_0 16 P.T.O.
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33

34

M9_0 17

The line graph shows the road accidents in three different cities in India. The Y axis in
graph represents the number of accidents. In which year, the difference behvegn tl;e ac:cldents

in City A and City C is minimum? &
u%ﬁ"r‘ﬁmnrrﬂﬁsﬁvf ST 3TT sﬁﬁﬁmg&m@ﬁa&ﬁm%ua&ﬁgﬁgﬁaﬂﬁmﬁ

Number of road accidents

S Ln
- -4
e
i -
5 pon
b f‘."
% o

qu f—';faq

‘:"'-‘Qli‘t!{‘dia.'-‘i 1085 ﬂi};

Years
- Oy B

e 30 3
" e g
g
S -'\.'::'

e
i i
I.;.::"':-":':":':'::'_::. .:5-"'
i b i
Yy
L= H

= ity A

(B) 1996
(D) 1994

(A) 1997 -*‘
(C) 1995 | ;
(E) Question not attﬁfillptiad?aﬂﬁﬁ_c[ g9+

Firita ‘_.:.'
Eh

e i
..::l\.":":":'-::'- rr&hj::'

There are 8 patlents n ahﬂspltal The average weight of the 7 lightest patients 1s 45 kgs and
the average we1gh'@f the 7 heaviest patients 1s 52 kgs. The difference between the weight

of the h@awest and the lightest patient is

maﬁrﬁ BW%ITWWWWWW4SW%@RTWWWWW
WﬁZ%ﬁPﬂW%W@IﬁﬂT&GﬂTWEﬁW%ﬁW%ﬁm BT S a7

(K 47-=f* (B) 48
i (D) 50

R

(E) Question not attempted / 3T U

P.T.O.
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35 Total 25 students appear for an examination. Rahul and Mohan are among those 25 students.
Rahul scores 98. The average score of the 24 students other than Mohan 1s 48 T 1€ average

score of all the 25 students 1s 2 more than the average score of 24 students Dtﬁﬂl ﬂiﬁﬁ Rahul.
How much Mohan has scored? o

@W&wﬁﬁzsmmﬁaﬁﬁrﬁ%lm 25 Wﬁﬂﬁﬁ%ﬁ%ﬁ%l?@ﬁEﬁTQS%l
A& o STATET 3T 24 B! H1 3iFd @i 48 & | g1 25 Bl %1 3i|d El'?r{’ EE‘?E?IE?F{QLIE‘BFI
% 3T @hIT A 2 3% 2 | Jie o foha=T @hit foham & 7 b,

e (B) 86

(C) 98 (D) 3] _,,:. & ::;;jiase
(E) Question not attempted / AN U9 fﬁ

36 The parents have m number of children. The averagéi‘:age-{gf father, mmher and m children

number m (numerical value) 1s - My

TT—TaT % S=at b g m | iy, weﬂ'{maﬁaﬁraﬁmmzo%lfﬁmﬁm%aﬁ% AR

HIAT 3 m s=dl B e g 16 %m‘@:‘rm I_.In?r) fopal 2 7
(A) 3 (B)
gy X @ :, 3 2
(E) Question not attempted / Gﬂﬁﬂg Fﬁ?:f
pr S -:-.:F;ﬁ'-

.J,:L E

37 Aistwice as old as B and C 1s thm:e as old as A. If A's age 1s 2 years less than the average
age of all three A, B and C; then @'s present age, 1n years, 1 -

Aﬁmﬁﬁaﬁ%@chﬁrmA%fﬁqﬁ% afg A @t &g A, B &t C i &l e 31y
(A) 10
(C) 8 £,
(E) Questlﬂu ok attempted / A YA

‘&f

38 Twelve yEaIS agﬂj the age of the father was three times the age of his daughter. After twelve
years, fathe?s age will be twice than of his daughter. The ratio of their present ages 1s -

“ﬂﬂ%mf'{éﬁmﬁmmﬁgﬁﬁ%‘rmfﬁﬁhﬁeﬂlwaﬁwﬁmﬁaﬂgmﬁﬁaﬁm
'-fﬁ?ﬂlﬁaﬁaﬁqﬁa@mm@mﬁw%?

(A)"'M““ (B) 2:7

""f(a(;)_,,;.,__.ﬁ:?» (D) 7:3

|||||

(E) Question not attempted / ST U9

M9_0 18 P.T.O.
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39 A mother has decided to sum and product the ages {)f her children Ishan and Anushka Thf::

equation gives the possible ages of Ishan and Anushka’?

T A A I Tl 39T 3NT STISHT &I 3M1g BT ANT BT @Rwéﬁzﬁrﬁrﬁa%m%mﬂaﬁmg
&1 AT S UG BHIT: 18 aﬁ156%|mﬁﬁaﬁuﬁmmwiamaﬁm@ﬁﬁaﬁwﬁam

aﬂT % { e ht”'}"-'--'-':-h.-:f.-u-;'.i:"
(A) x%+56x—18=0 (B) x%+ 56x + 13—0
(C) x2+ 18x — 56=0 (D) x2— 188 ‘36—’9

n':-‘r‘r':‘a';.'. "
ah bk

(E) Question not attempted / ST 99

40 The product of Vidhi's age (in years) three yﬁai‘s ago &nd her age five years later from now
1s 1 more than twice her present age. Vldhl N preseyt age(in years) 1s -

ﬁaaﬁvﬁﬁla}m%lﬁrﬁmﬁaﬁqﬁwﬂﬁﬁ)ﬁﬁﬁ%?

(A) 4 "“%ﬁ “ (B) 6
(C) 3 ﬂ:f.:'-:;-i?f:::-.- I:EE:::.'—:::'-':'n:-'.-:-:ir'-":::::é;:l (D) l U
(E) Question not attempted,/ PRI T

;’E:-' &i‘-'

41 X 15 a% more tha,n Y and Yisb%Ilessthan Z. If X >0, Y >0, Z > 0 and X > Z, then the
relation betw&en a atid b is -

X.Y9® %m%aﬂTYz%b%w% I X>0.Y>0,Z>03RX>Z, dasixbsd=

Eall Hﬂa %;?

"ﬁ jau:-,‘.‘,‘,55:1'
(A'}E“"'ﬁ-l?ﬁﬂ a<b (100 - a) (B) 100a>b (100 - a)
(C)!UD a}b(|00+a) (D) 100a<b (100 + a)

(E) Quesm}n not attempted / ST U9

M9_0 19 P.T.O.
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42 The ratio between the prices of two bicycles 1s 15 : 26. If the price of first is increased by

the 1mitial prices of the two blcycles‘?

P RGN R (B) %4290 and¥ 7436 a
(C) 4719 and X 7986 (D) %5629 and ¥ 853§ ----- E:
(E) Question not attempted

31 wTEfehl & Hedl % drd T ST 15 26%|aﬁ%‘o¥r%€ﬂ@f[10%a5‘laﬁfgﬂ‘&%5{ﬂfr?550
%1 g A s ¥, A Tt % S @ o 13 zz—am%léﬁ’“ et a1 TP e T o

(A) T 7359 &t T 3652 (B) % 4290 aﬁ'{ T 2436

(C) T 4719 a3 7986 s % 8539

(E) srgaia wsd

43 <1200 1s divided among X, Y and Z sui;h that ’<‘ .:0 more than 3/51 of X's share, ¥ 10 more

¥ 1200 &7 X, YGﬂTZﬁWWWWW%ﬁHX%W% 3/54 9 A T30 affers, Y &

|||||||||||||

W%Z/S&@r?lﬂaﬁ&raﬁtz%m%ﬁfﬁmﬂﬁ?zom Y SO E | Z BT 97T fopa= & 7
(A) 299.698 (B) % 560.175

(C) T 340.116 w (D) % 134.07

44  Ram and Sham tﬂ;:eﬂrér have % 285. If 2/3" of money with Ram is equal to 3/5™" of money
with Sham then w@at 1s the money with Ram?

WGﬂT*"ETT@ﬁEW@HﬁFHEET?ZSS 290G (M % UTH 99 BT 2/3 9TH & UTH 99 @&
3/535“3113'{%/ CRCE R A B e,

(A) z* L;ﬂ (B) %200

(C) ?85 (D) T 135
(E) Questmn not attempted / 3T U7

M9_0 20 P.T.O.
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45 Two busses are at two different places 76 km apart. They start moving towards each other.
[f their speeds are 20 km/hr and 18 km/hr respectively, after how much time wﬂJ they meet

each other? o
(A) 2 hrs (B) 2 hrs 50 mins g
(C) 3hrs (D) 2 hrs 30 mins “

(E) Questmn not attempted

......

20 et wft wieT ot 18 et wfy e 3, ﬁ&@—@iﬁﬁmﬁwwfﬁéﬁﬁ?

Vi & e (B) 2 EI% 50 ﬁi'_'l? "
(C) 3¢ . £ £ :
(E) ergafed 93

46 Two trains are moving in opposite direction. Fast tram is ISO m long and 1ts speed 1s

40 km/hr. The length of second train is 170 m. If they: qmss one another 1n 4 seconds, what

1s the speed of the second train? '
(A) 248 km/hr ‘EB) 3;'1) km/hr
(C) 100 km/hr $(D) 160 km/hr

(E) Question not attempted

1 2 ool fean o 9a @i W%Jiﬁﬁaﬁ%aﬂisﬂaﬁwﬁmﬁlmmﬁm%@eﬁ?ﬁ
Bl @arg 170 W & | aﬁ%w@ﬂ«iﬁwﬁmwwﬁ% A EA A B T RTE 7

(A) it eer 248 T 4 (B) wfweer 320 fh
(C) wiiser 100 fslt 7 (D) wfy =1 160 f5e

(E) aTﬂ:aﬁ_d L Sy, -:3;::::::':‘:-f;-r-,-,:_:;,::;ﬁf:g

Irr-.-.-
I:-'rrr .'. .

47 A man covers dlstagce ﬂf ,HOU km 1n 80 days resting 10 hours a day. If he rests 16 hours a
day and walks aI 2.5 tl]TIES the previous speed, then in how many days will he cover

IOOO km? a7 r':"":zﬁ-:-:-:-'ifi:':'-'-
(A) 35 days "=, y (B) 20 days
(C) 40 days (D) 50 days

(E) Quﬁﬁtmn not attempted
@mﬁmﬁﬁa lﬂa%err(rcra:—{%gq 80 =it 1400Pﬁﬁraﬁrqﬁaﬂm%mﬁaw%ﬁ=r 16a%

A) ..... 35% (B) 20 f&=1
({1)40 & (D) 50®=
(E) orgafed ue
M9_0 21 P.T.O.
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48 A fraction becomes 3/5, if 3 1s added to both numerator and denominator. And it becomes

1/2 11 5 15 subtracted from both numerator and denominator. What 1s the frat‘hticm‘?

Iri:‘c:aTsTaﬂT%Taﬁlﬁ3?&%%3@%@%3/5ﬁaﬁﬁ%lmaaﬁ1ﬂﬁﬁﬁ

STEH IR 128 S S| =T s/ 2 7 I ﬁ
(A) 21/37 — ........
(C) 49/67 S

(E) Question not attempted / ST 99 .:-%-55 N

49 There are three fractions. When the largest fraction 15£11v1ded by the smallest fraction, the

result 3/5 1s greater than the middle fraction by 1/3Lf the sum of the 3 fractions is 32. What

......

A ot ¥ | STe e 92t e B wed B . %&nﬁn?n% at afkomy 3/5, weg =1 9
I/Baﬁaﬁm%|aﬁ3ﬁﬁa€rﬁv32%lﬂﬂ%ﬁé’reﬂ'{mﬂﬁmﬁﬁﬁaﬁmmw#ﬂ?

...... :‘

.-"'

-':::‘\1

-:i':'i:-.
Bk .
T"i:-

(A) 142/13 % “ (B) 109/120

I.;.:::":-":':‘1':::'::'_::.

(C) 69/25 W (D) 49/40

(E) Question not attempﬁed / Gﬂ@%ﬁ‘cr g9

Irr-.-.
I:-'rrr i

50 The product of twaf flac’fmns 1s 5/4 and their quotient 1s 4/20. If the denominator of one
fraction 1s 2/5 l'IIIlE:S that of the denominator of other fraction, then what is the sum of the

s
QR

two fracnnns‘?

ﬁﬁFﬁﬂﬁ‘[{WﬂWSM%@RWW4f20%lﬂﬁwﬁ4:{ﬂﬂﬂ@3{ﬁqf_—rgﬁﬂiﬁr2f5ﬁ%

(B) 6/5
D) 1
Eﬁ?’ﬂﬁhuestiﬂn not attempted / sTFART 997
M9 0 22 P.T.O.
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51 The sum of numerator and dEI’l{}II]jIlﬂtﬂl‘ ofa fractiﬂn is 5 less than thrice the denominator. If

denominator. Determine the fraction.

U =1 % 39T S BT BT AFT &L A T 8 5 HA &1 gfS ama?r{s'{fr@rzwﬁmm a’rams'{
T STTET & ST & | f=1 et S

(A) 4/7 (B) 4/3 ~
(C) 5/9 (D) 3/4 ol e
(E) Question not attempted / SN T

52 Direction: In the following question assuming the glven statements to be true, find out
which of the following two conclusions is definitely ‘il”l’tE‘ 4 >

Statements : .
0>§,C<D,S=D |
Conclusions : .

. 0<C S

. S<D 4 74

(A) Only conclusion I 1s true %

(B) Only conclusion II 1s true {y,;

(C) Either conclusion I or c:ﬂnc:]usmn J, As true

|||||||||||||

(D) Neither conclusion I nor ﬂmmlusmn I1 1s true
(E) Question not attemptad’ f

ﬁé‘sr g fau T uﬁﬁﬁ:@m@;ﬁraﬁ 3T T JHET A 1, T4 J § &I 9 &l Fhy quiadr 9
0>S,C<D,S & D
- A
L 0< C W

L. Sg D

(A) ,:m*:ltﬂ ﬁﬂwﬁ |9
(BY aiEl’t'r[ %rmf | RO R
g;:{(i‘) mﬁrﬁﬁﬁﬁf [ar forend [l 9 &
D) 1 5 Pred 11 8 P 11w

(E) e gem

M9_0 23 P.T.O.
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53 Direction: In the following question assuming the given statements to be true, find out
which of the following two conclusions 1s definitely true.
Statements : i gy

G=C: PG L2 &
Conclusions : 8
[ D=G % »;

1. L.zP :?iii::m::;::'"""?-:::.k i

(A) Only conclusion I is true W %

(B) Only conclusion II is true

(C) Either conclusion I or conclusion II is true

(D) Neither conclusion I nor conclusion Il 1s true

(E) Question not attempted
oAt *‘ﬁﬁ@ﬂﬁﬁﬁﬁwzﬁﬁﬁwwwma ﬁmﬁwﬁwﬁmmm

T

W : :FQE:E:;E:':::-::.
G=CP=GC=Db m w“

ey :

L. D=G

. C=P

(A) Faet P [ wer 4 (B) ‘¥awt Frepe 11w 3

(C) ararfreay [ar ey g d & 5'“(D) 1 1 From [ =7 21 e 11 9 @

(E) o ue U

54 Direction: In the following quesﬂ-:m agsummg_, the given statements to be true, find out
which of the following two cﬂnehmlgns’ 45 definitely true.
Statements :

Az Jr C= Y-} I o ::i::::'::::-::ﬁ.;.;.;;_J,.-:f?::
Conclusions : ;* .

L. Y > . 55

[I. A>Y P Gl

(A) Only canclusmn ifs tm‘e

(B) Only conclustén 11 1§drue

(C) Either conclusion Eﬂr conclusion 11 is true

(D) Neither G{}I‘IET&Slﬁﬂ I nor conclusion II 1s true

(E) Questigt: not attempted

fd et : %%qmﬁﬁﬁﬁqﬂqﬁﬁﬁraﬁw T ST, &9 o | &9 9 &1 Fhy oiaar 9 @

HIT :
A > é’c ﬂX;“J = &

A AﬁY
(A) e Frepd 1w ® (B) aw ey 15 @
(Ey=ar ar freawd a1 frend 11 o & (D) =mar fresd 157 & Freapd 11 9 ®

(E) orafa 9ed

M9_0 24 P.T.O.
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55 Direction : Two statements are given below followed by two Conclusions I and II. You
have to consider the two statements to be true even 1f they seem to be at yariance with
cﬂmmﬂnly known facts. You have to decide which of the conclusions, if anji fcﬁlﬂws from
the given statements. y
Statements : No quadrilaterals are polygons. &

All polygons are rhombuses.
Conclusions : I.  Some rhombuses are quadrilaterals.
I[I. Some rhombuses are polygons.
(A) Only I 1s correct. (B) Only Il 1s cnnegt
(C) Both I and II are correct. (D) Neither I nﬂf 11 15 cunect
(E) Question not attempted

9T -— e feu 7T St & w18 9y Fread 1 8 11 few 7o 3 Wﬂ“{ﬂiwﬁrﬂé’rmﬂ:ﬁ%aﬁ%
Hmmwu-muﬁ@ﬁmﬁm@%ﬁ%mﬁrﬂam%ﬁqwmw%aﬁ?%ﬁﬁmhﬁ
2|

FA I A AT TG T )
L gowmEgd AT e o
(A) e 12 wet &) B ﬁmﬁﬂé“rﬂﬁ%l
(C) 1ud ILEHT & |&1 2| (D) Adr e TS Iad

(E) &g e

56 Direction : Twc: statements are gwg}n belnw fﬂ]lnwed by two Conclusions | and I1. Ynu
cammcm]y known facts. You hﬁﬁ;e 0 ﬂemde which of the conclusions, if any, follows from
the given statements. . &

Statements :  All candl 5" are lantems

Conclusions : [ Aiﬂ lantetiis are candles
1. AII bu[hs are candles.
(A) OnlylIis c:ﬂmeact P (B) Only Il is correct.
(C) BothIand H are correct. (D) Neither I nor Il 1s correct.
(E) Question, not-atempted

1 :— A e ey % w1 o Fred 1 o 1 Rw 1w ¥ | siruesy &1 %ol ) 98 qe & R 9
HmFarm:ﬂmltaﬁrﬁmmﬁﬁ%|mﬁﬁam%ﬁqwmaﬁr%aﬁﬂﬁﬁﬁﬁée€r%l
FI Hﬂ%n‘rﬂaﬁ%mamﬁ%l

H;jf{mmm g0 & |
‘* Al g geg detaar ¥
AAY %mﬁrlémé*r%n (B) o 11 & 981 2|
”%(C) Eqalla‘ﬁ“ri?’r“eﬁ%l (D) sarlafe= e [laer &

M9_0 23 P.T.O.
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57 Direction : Two statements are given below followed by two Conclusions I and II. You
have to consider the two statements to be true even if they seem to be at yariance with
commonly known facts. You have to decide which of the conclusions, if any, fottows from
the given statements. . F
Statements :  All good hockey players are in the Indian hockey team’ """

‘X 1snot a }:,Dﬂd hockey player.

Conclusions : . X" 1s not 1n the Indian hockey team.

[I. ‘X’ wants to be in the Indian hn{:key team. %,

(A) Only I is correct. (B) Only ILis correct. -

(C) Both I and II are correct. (D) Neither I noz I i 13 ca;rrect

(E) Question not attempted

591 :— e o U ST % w1 of e [ et 11 g 7w 2 @ﬁwﬁ*@caﬁaﬁr %] el JFET1 & 9% O

Wmmmuﬁﬁ“{@fWﬁwqﬁ%lmﬁrﬁum%ﬁqmiﬁﬁ%fﬁﬁﬁ%éﬂﬁ

FIF G o795 B RaeleT AT ea A

Fepd: 1 X WRdmEmimA sy

L X s 0 S A T
(A) %aw [ & 98l 7 (B) A 11 & wE %
(C) lud [l & 9er & | (D) war [ s & 1 e &)

(E) Gﬂ?lﬁ_tf 93|

58 Direction : Twn statements are gl”"&‘%ﬂ belﬂw fﬂ]lﬂwed by two Conclusions I and 11. Yﬂu

commonly known facts. You have 0 demde which of the conclusions, if any, follow from
the given statements.
Statements :  Some scab&s are penclls
Some erasers arg pencils.
Conclusions : L Sﬂme péﬁblls are erasers.
I1. &Qmﬁ ﬁenmls are scales.
(A) OnlyIis cm:ré{:t P (B) Only II is correct.
(C) BothIand 11 are c@rrect (D) Neither I nor II 1s correct.
(E) Question. not-attempted
fadar —?ﬁ%%ﬁwmﬁﬁamﬁﬁﬁﬁﬁf [ afre 11 73U 71T ¥ | 3TT9ehT &7 el &l 98l 99T & 9% d
W«mﬂmuaw’fﬁm HI HICH U & | 3T9h] 191 BT & 16U 1T U1 o b o b gal
%I i:f e,
ERE g@ @had Afa €
lllllll S BB E Ui %I

(A) aa—clméfraﬁ%n (B) aw 11 & &&1 &1
(G5 1 wd 11 31 &1 war ¥ (D) sarleir= & 1l aer &I
(E) sraita 9ed
M9 0 26 P.T.O.
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59 Direction : The statement given below 1s followed by two arguments, numbered I and II.
You have to decide which of the arguments 1s ‘strong’ and which 1s ‘weak’. .
Statement :  Should the incharge of all the police stations in the caunu}? be *Izrfmsfen'ed

every two years? #
Arguments : 1.  No, this will create a lot of administrative hassles Hnd,ai so Will create
a lot of inconvenience to the police officers. % g
II.  Yes, this is the only way to eradicate the nexus b»atweempﬂhce officers
and anfi-social elements. ¢
(A) Only Argument I is strong (B) Only Argument, [] 1§ sjzrﬂng

(C) Neither I nor Il is strong (D) Both I and li arf: stmng
(E) Questmn not attempted

a?ﬁ"é?r ELEIEES
HH w%&ﬁﬁgﬁwésﬁﬁwwma’rwﬁuﬂwﬁaﬁaﬁm
Er 1 AER I 1§ %@Hﬁwﬁﬁﬁﬁﬁﬁmm@%gﬁwmmmﬁmaﬁﬁwﬁ

IaT BT
[I. =, J& %o giad eIl od ﬁﬁﬁﬁiﬁﬁﬂaﬁﬁ‘r&ﬁ%dﬂ\m %1 AL
(A) Had Teiid | GHE9Ter & {B) Fee Tele 1 ST
(C) = ar1 s & I awEeer gz (D) e&ﬂ?rlqaﬂqmsmﬂ%

(E) orgafed e P

Ll e R
.....

60 Direction : In the following question ‘fwc: statements numbered I and II are given. There
may be cause and effect relatmnsha_.g hetween the two statements. These two statements
may be effects of the same cause of mdepcndent causes. These statements may be independent

[.  The life today is too faSt dem@ndmg_, y and full of variety in all aspects which at times
leads to stresstul sﬁuatmns
[I. Number of suicidé causeé among teenagers 1S on 1ncrease.
(A) Statement I is the wause-and Statement 11 is its effect
(B) Statement II 15 _i;_}je gause and Statement [ 1s 1ts effect
(C) Both the Statamen%s [ and 11 are independent causes
(D) Both the statements ?and [I are effects of independent causes
(E) Question not atterupted

fger : ﬁ%ﬁgﬂgusﬁﬁ”é‘[zﬁuﬁ [ 3t 11 o wrw ¥ | 297 21 %91 & S 1T U GHIG G & Fahdl

21 9% a1 B U, 2 HTI0T %1 Y9G 8 Wbl & A1 Fhdl W Bl &1 | 98 %9 o1 fopd! @ &
SRE mltufE?men | AT

I. ﬁihﬂ%mmlﬁﬁa:fﬂgnnm% a+ gt o smasti ud 95« fafagdar arer @ 51 &g 91 aqege
. Rty HeT BT B
ﬁﬁsﬁﬁﬁamwaﬁa?rﬂwfrqﬁié‘r?é’r%l
(A ) EH%UQ:HN%@TEEWIIQ‘HEHHW%I
(B) Eh‘efFr [1 &TTOT & 3T HU | 39T Y99 B |
':E*(C) %ﬂ?rlt.,q a1 3FT @A BT |
(D) e | wd o 11 S41 eisT SN %7 36T & |

(E) arana g

M9_0 27 P.T.O.
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61 Direction : In the following question two statements numbered I and Il are given. There
may be cause and effect relationship between the two statements. These twg statements
may be effects of the same cause or independent causes. These statements may | be ﬁdependent
causes without having any 1elat1en5h1p Give answer. P

| There has been a high increase in the incidents of atrocities ag;aﬂie,t worien in the
city during the past few months. : 3
[I. The police authorities have been unable to nab the eulprlte whe &;e committing
crimes ai.,amst women. ; E
(A) Statement I 1s the cause and Statement 1l 1s 1ts effect.
(B) Statement II is the cause and Statement [ is its effect. &
(C) Both the Statements I and II are independent causes. * | /
(D) Both the statements I and II are effects of mdepende}ﬁ eeesee#
(E) Question not attempted

291 : Sl TS0 T w9 o & B, la?r{llﬁqm%laﬂa‘rchw%aaﬁﬂweaumaeﬁre%@raﬁr
mmwwmwwmmﬁeﬁ%lﬁrmm%%wa%mwﬁeﬁ%l
3L GIeTT |
L. ﬁeﬁwqﬁ%ﬁwsmﬁq%maﬁ%ai%mﬁjammaﬁmaﬂﬁﬁiﬁeqﬁeﬁ%l
I1. gﬁ‘rrei%ﬁme—vrmﬂﬁﬁrwqmaﬂﬁwém%aﬁqﬁwaﬁ%wﬁrmamfé%l
(A) e 1 &Teor ¥ ofi e 11 gaar g 317
(B) ewllw%aﬁ’r{zﬁuﬂmwﬁn f
(C) %y 1 ud &y [l 391 @y dor g1 46
(D) @ | ud %ee llﬁmﬂwﬁﬁﬁm%l

(E) ergafta usd P

62 Direction : There are five doctors’ I‘eZ .4 and 5; four engineers G, H, K and L; and six
teachers M, N, O, P, Q and R. Ameng theEe some teams are to be selected Of these 1, 2.G
H, O, P, Q are females and the: Test arg males. The formation of the teams is subject to the
fo lowing conditions: g ;
Wherever there 1s a male deeter ,thele will be a female teacher.
W’lerever there 1s a male E%IHEW there will be a female doctor.

If the team consists ef twe deeters two female teachers and two engineers, all the following
teams are possible, e:eeepm

(A) 12KLPQ { (B) 12GHPQ

(C) 12GHOQ ™., .+ (D) OPGHI12

......

(E) Questioh, not attempted

fader « ufe Baed 1, 2, 3, 4 ot 5; a Seifrad G, H, K &R L; ot ®: e M, N, O, P, Q 8%
R%Igﬂﬁﬁ@fﬂ:ﬁml g et elsTm A 1,2, G H, O, P, quéﬁm%aﬂ'w‘mw%!ﬁﬁrm
Tt et ol o T R

Gﬁanb‘gaﬁr T B, a%TQﬁiﬂ%ﬁTﬁT%'&ﬁ"ﬁl

TR /' TOT SSIMAN &, g8l Uth Aledl SIFel sl |

Tl T E X 2 ¥ ot qew Rres TE

- gis 2y | 31 S, 31 HiedT 31&e o7 a1 geiiax &1, a1 g4 fFrfaiad 24 deniaa ¥ fem -
%A) A2KLPQ (B) 12GHPQ

(C)" 12GHOQ (D) OPGHI2

(E) i usd

M9_0 28 P.T.O.

Downloaded from www.cclchapter.com (¥ scanned with OKEN Scanner



63 Which number 1s in the square, ellipse and triangle?

T, STEE S S H &I 91 96T § 7

“u
s
L=
v
'::::-
4 i o
Attt gt
..... hH
oL e,
1 o
o =
6 H .
oo = .
4t ] T

g &
7 11 .-iii:m"f‘l:-::L:___ ’%Eii:ﬁ
a4 Py,

-2
Lh
o
oo o
i

=
o

(A) 1 ( B ) 5 ﬁ::::;l:d%‘:iﬁ
(C) 6 (D) 7 .
(E) Question not attempted / AN G __-;;.f" - i

- .

64 In the given figure, P is 300 km eastward of O and Qs 400 km nm*th of O. R 1s exactly in
the middle of Q and P. The distance between Q and R,ls 7

North
‘. 1.1.1.1:':'5'5".':.-

Q

O 5 East P,

(A) 250 km L ¢ (B) 150¥2 km

(C) 300 km (D) 350 km

(E) Question not attempfed g

&1 TTg ST H P, 0%3%%@“#%@1(} O % 400 Tt sax & ¥ R, Q 3l P % i memr &
z1Q eﬂ'{RéﬁEﬁaEﬁr %*f?

(A)25§ fepHiT (B) 15042 oy
%C)...800 feprir (D) 350 fepei

Ll ARG

M9_0 29 P.T.O.
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65 In acollege party, 5 girls are sitting in a row. P 1s sitting to the left of M and to the right of
O. R 1s sitting to the right of N but to the left of O. Who 1s sitting in the mlc;ldlﬁ;‘?

. mmmﬁﬁSagﬁvmqmwﬁﬁrﬁa@r%lM%ﬁrr&aﬂmﬂTO%aﬁahPaﬁ%rR N e

A AT O % i 41 1 drar 3 B A ¥ 7
(Al O (B) R V4
) P oM

(E) Question not attempted / ST 997

66 Which of the fﬂ]lﬂwmg dtagl ams represents a relatmnshm%etween p]ayer s and footballers?

® /XN

67 Direction : Examine the fﬂllﬂ\ﬁhg statements and answer the question that follows.

Out of four friends A, B, G and [3 A and B play football and cricket. B and C play cricket
and hockey. A and D pt’ay basketball and football. C and D play hockey and basketball.

Which game 1s {:t}mﬂlm}tt} B Cand D ?

(A) Basketball /" 7

(C) Cricket , s, .

(E) Questlfsfn 10t attempted

REEE ﬁlﬂﬁiﬁaﬁﬂiw BT SIS TUE0T HL A Ffeiad 997 &1 I & |

ar{ﬁqa‘rﬁﬁ_pmnﬂﬁAmBW@nm@aﬁ%nﬁmcmﬁwwﬁ%
€ D a2t e At G ¥1C e D g1 ofe aveai et

(B) Hockey
(D) Football

(A) 'ﬂltﬁhdﬂl'ﬂ (B) =Tl
1€)e e (D) weard
(E) srafe we
M9_0 30 P.T.O.
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68 The age of Amit 1s same as Sumit because they are twins. Richa is younger than Sumit.
Richa 1s younger than Jyotsana but elder than Saurabh. Sumit 1s younger thﬂg Jyﬂtsana.
Who 1s the eldest among them? ; %
(A) Amit (B) Jyotsana
(C) Richa (D) Saurabh i 7
(E) Question not attempted e
aﬁaﬁrmgﬁaﬁw%mﬂ%%w%lmgﬁﬁﬁzﬁ%ﬁ?&hﬁf%%%@rﬁ‘mﬁ\w

+~1".:.:::.

921 3 | g ST 9 BIZT S| S99 § 999 931 %I & 7
(A) arfa (B) <A
(€) © @ s
(E) orafa ued gl
69 If "'THEN'is written as 'RLBS', then how will 'CASE‘” be w_lmen in that code ?
aft THEN' @t 'RLBS' ferar <t &, 4t 36 #is ¥ 'CASE B 8 feram s ?
(A) AEP] (B) "APEP;
(C) EPEP (D), PAES

(E) Question not attempted / ST 1;;3:; g

70  Deepak said to Nitin, "That boy playmgwath the ﬂ}ﬂtball is the younger of the two brothers
of the daughter of my father's wife" How 1s the boy playing football related to Deepak?
(A) Son ﬁ:_” ~ (B) Brother
(C) Cousin ,“L * (D) Brother-in-law
(E) Question not attempted

ﬁw%ﬁﬁﬁﬁﬂﬁﬂ qE TS =t

- @mm% ey G g G Wt o

.,:%
i

( A) aT{[ Vi I:I:I:u-,-,-,;.:;-:h (B) ,q_rﬁt;
(©) i (D) e

71 C1ty D 1s to West ﬂf--{-?r’ty M Clty R 1s to the Sﬂuth of City D. If C1ty K 1s to the East of

(A) Nm i "‘? (B) East

(C) Nﬁﬂlﬁ’Eaat (D) South-East

(E) Questﬁm not attempted

arﬁl;) et M & a3 H %1 98T R, 98T D & gfawr 7 ¥ 1afs st K, et R & qd o &, @ 9T K,
D v e & Rerq ¥ 7

(A) ¥R (B) o
(Cyer-—d (D) afaor-gd
(E) s ged
M9_0 31 P.T.O.
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72 Which number will appear on the face opposite to 17
| @& T el U hII—dT 3 ST 7

"y
o
t .
"= a
s e )
=
':: .
£
L, L
..... o
Pt s
i :
s E:
. ! e
e = e
= il
o
1] . 1! r

{] l} :Eéég::?”*'i:i::.;:L:::_::::h %1,:;;:
(A) 6 (B) 5 i .I::drﬁ:}r-{}"’-"-':-b.-:f.- 1.
(C) 4 (D) 3 f‘*
(E) Question not attempted / SIHATE 99 |

73 If'JUICE'is coded as '19-41-17-5-9', then 'TOY' will be cvﬂed 4s -
gfg 'JUICE' &7 '19-41-17- 5-9'%mﬁ6€rﬁ'ﬁﬁﬁmw% Eﬁ'TOY‘ﬂ%%@fﬂﬁ%ﬁﬁwm ?

(A) 39-29-49 (B) 41-&1-51
(C) 13-23-3 (D) 15 25 Gt
(E) Question not attempted / ST T

......

|||||||

74 In the following sequence of instructions, 1: stands fm Run 2 stands for Stop, 3 stands for
Go, 4 stands for Sit and 5 stands for WﬂlL If the Sﬁ(]UEIlCE is confinued, which instruction
will come next? :

4454534531453]245454533!:53

(A) Wait '*”f (B) Sit
(E) Question not attempted o=, g

e & Fr=fafaa e o | ﬁ%ﬁmm% 2 T &1 Gbd &, 3 ST &1 Hobd &, 4 939 &1 Uohd &
3T 5 u?ﬁaﬂﬁaﬁm@m%mﬁ%asﬂmﬂmﬁraﬁaﬁﬁ—mﬁ%ﬂm?
4454§5A5314531?45¢5453453

(A) FA=X B A s (B) o

(C) w (D) e

(E) Wﬁﬁ ‘.;r?:f -':}Eﬂ::;::r?ﬁi:sia?

75 Madhav’s age is cuma,uﬂy five-seventh of the age of his father. After 5 years, Madhav’s age
would be thrﬁefﬂurﬂl of his mother’s age. Madhav’s father is two years older than Madhav’s
mother. What waS sthe age of Madhav ten years back?

(A) 35; yea;s (B) 45 years

(C) 55 y&a;s (D) 50 years

(E) Questmﬁ not attempted
AT ﬁwﬁmaﬁﬁwaﬁm%mﬁﬁwm%lsaﬁmqmazﬁraﬂwaﬁwaﬁ
(Y dF ded Enft | mrere % Rrar arere o A A & ad 92 ¥ | <@ o gd wrea o ey fea o ?

YA) 35 (B) 45 o
(€555 ad (D) 5044
(E) srgarea ued
M9 _0 32 P.T.O.
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76

77

78

Below are given a set of analogies. Which of these analogies are NOT appropriate?
1.  Ocean : Pacific :: River: Nile ﬁ'}

2. Zoology : Animals :: Cardiology : Brain

3.  France : Europe :: China : Australia : ﬁ
(A) Only 2 (B) Bothland3 o, o
(©) Both 2 and 3 (D) Only 3

e
R,
1 -:u

(E) Question not attempted
Ay e &1 us A2 R T ¥ g d e WWH@[%?

.  HEEFI ; 990 o 7l @ Sl
PR | € 1 R ) 7| 0 | B | 5 )
3. W9 ‘{ﬁﬂ | aﬁ'@fq’ﬂﬂ‘[ N By

(A) e 2 (B) 1 am 33

''''''''''

|||||||

(C) 283 (b ) %h_c'm
(E) 3 iiﬂi GRES! f

uuuuuu

“What would be the next two terms; m tl}e gwen alphabetlc series: bbCCC, cccEE, eeHHH,
h.thL ........ {'?” rr"1:-:-,:, aF_:'

(A TR ki gV . (B) 1IQQ and qqWWW
(C) 1QQQ and qqu (D) 1IPP and qqVVV
(E) Question not attemptad .ﬁ

& TE auf sjEar § emﬁﬁ“r qa aih—ﬁ 21 : bbCCC, cccEE, eeHHH, hhhLL, ........ i
(A) 1IPPP &t qquv ''''''''' (B) 11QQ st qqWWW
(C) 11QQQ aﬂT qquw (D) PP 3tk qqVVV

|||||

(E) &1 tcﬂf%?f
ﬁ

”What Wﬂufd be the 9th term in the given alphabetic series: zYw, xWu, vUs, tSq, .... ?"

(A) ‘he (B) Jlg
(C) mOk (D) fTp
(E) Queﬁtmn not attempted / ST U9

M9_0 33 P.T.O.
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79 Ina cﬂding scheme, each letter in a word is written as a letter after shifting N pnsitiﬂns

BAT has only one vnwel so 1t will be coded as CBU. A five letter word LOUIE 1S ﬁken lt
1s coded accﬂrdmg to this scheme. The resultant 1s again coded as per fhls §cheme and so

......

%, 2ateu g9 CBU %mﬁﬁ%ﬁmwlqmmmﬁm 31@ LOUIE Ehmﬁﬂm% ‘s’ér.w ImEL

P e

qiohaT %I lﬂwﬁﬁmm%lwwaﬁgﬁﬁmgfaﬂaﬁfmm Eﬁ?{—mw?

(A) HOYPX Y
155 R 579, (A
(D) QTZNJ | % P4
(E) Question not attempted / GWHQ:{
i %F

80 “Inacoding scheme, a word is c:ﬂded as product of positions of its letters in English alphabet.
However, for the purpose of: calsulﬂﬁng product, only unique letters are considered. For

example, in word FELL Lwnul& be considered only once, and code would be 360. Which

%{ﬂ?ﬂ‘rﬂ%laﬁﬁ Wﬁw%a&&a@rwmaﬁaﬁﬁﬁmm%lw
otz FELL i‘l L ﬁ et re ST T ST 371K 39T @S 360 211 39 & F5 9T %1 &1 g 92
L) AP

(A) ACAC’IA

’%-

(B)/ BASS

D) DADDY
(E) Question not attempted / SaRT 497
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81 “Inafamily of six persons, two are males and remaining are females. The members are P, Q,
R,S, T and U. There are two pau s of father and daughter 1n the famﬂy S1s wlfe of Q R and

Based on the given mfmmatmn select which of the statements 1s/are d&ﬁﬁltﬂly true

1.  The two male members of family are Q and T. "'E Fi
2. Sis mother of P P
3. Tis also a sibling of Q. lii?ia.ﬁ_

4.  Tisuncle of Q.” g, R

(A) Only 1 is true (B) Only 1 and 2 are true

(C) Only 1, 2 and 4 are true (D) Only 1 z;nd 3 “je_tre tue

(E) Question not attempted

8% AT % T ITETt H 2 Io € S o Afewnd € | HEep, Q R S T &t U & | af@mr o T
a?r{gs?raaa“raﬁ%%ls Qa»“rqc—rﬁ%mahQﬂﬁaT%m Ta?rtrc*rﬁ%lu Sa?rgs‘i’lqé’r%lf‘n%r@

: W**WWQ@RT%

3. T.Q@&ush e dr | g

4. LOwwmrsr Gk

(C) waw 1,284 @& " ( D) et 1 it 3 o &
(E) eorgaiia e g ;&

82 “Malais sister of Harish. Haﬂﬁhh&s fwo daughters: Reema and Seema. Reema 1s married to
Satish. Rekha 1s mother E&: Satlsl; Below are given a few statements. Based on the given
information, select whxéh of the’statements is/are definitely true.

1. Reema 1s niece” E.if Rfkﬁﬂ 2. Rekha 1s mother-in-law of Seema.
3. Malais mstm*"ﬂf Rékﬁa

(A) Only 2 1s true (B) Only I and 3 are true

(C) 1,2and?3 are triié (D) 1, 2 and 3 are all false

(E) Questmn fiof gﬁempted

“wﬁﬂﬁw%la‘&mﬁa‘r%ﬁm% AT ST G | {7 QTIEY AT H B3 © | L@ GaleT @l "
%l:ﬁ%wﬂaaﬂﬁqm%lé‘rﬂéwmm o ST U g b BIF—a1/d s Fida &9 ¥ @2l 8/2 |

ﬁﬂT“{@’fa?rﬂ‘cﬁtrﬁ%i 2. @i, 4 @ 9 |
3. i o e 1
(E)%—c‘% 2w ¥ (B) aw 1 oft 3 wér ¥
Q) A, 283w ¥ (D) 1,2 T 3 g Terd &
(E) eraia usd
M9_0 35 P.T.O.
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83 One evening, while returning from college eight friends A,B,C,D,E.F,G and H went to a
rooftop restaurant. They sat around a rectangular table, parallel to each othe; -:-=-=-f@ur on each
side. Their seating arrangement is described below: &

(1)  A’s shadow fell to the left of D. (1)  C sat between A and B,
(iii) H sat in the north-east direction of A.(iv) E sat between G and F. :

(v) G didn’t sit dIrect]y uppnsﬂe to B and E didn’t sit directly UppﬂSIte ’[ﬂ A

ey
Lo

......

(A) North-West (B) South Al
(C) North-East (D) East ¢

4 R
% F B

(E) Question not attempted

ais s A, B, C. D, E, F. G 3t H u% 919 &) m|MﬂﬁﬁﬁﬁwwwmﬁwléQiﬁ—
g\ﬂtﬁmﬂmm{w STATHT 7T & AR ST TS &, ﬁ?rr%ﬁu'@‘cﬁafﬂm{ =R %% | 3Th - BT A

(i) Aaﬁrwoéﬁarré‘fafr(usﬁr%l (;.;),_J Cmi‘rcﬁaaé’mﬁaa%n
(iii) H, A% Sat—qd feem 7 d21 2 | {w) E,GGﬂ'{F%Eé’mfr%‘o"r%l

(v) G B % 3% 9w Tl 991 % i E, A‘%Eﬁiﬁwﬁﬂﬁaﬁr%l
afe G 3T D 93@ 319971 WU 98ad &, ﬁrC%ﬁEﬂﬁaﬂﬁ Gsagqug H 9a1 7 7

A) g1 4 ®)
o~ W‘H\_“f Gy I&:;EI:;:?{:::I (D) ]:Ef
(E) orgaia us

84 “Ellipses are two dJmensmnal ﬁgure It has two focii and a ma]nr axis and a minor axis.

A circle 1s always an ﬁﬂipse w1th equal major and minor axes.’

In the text given abgve M 1§ the number of times, a letter has occurred consecutively (like
p 1n dipper), and N 1S numf:er of words with four or more letters that have been repeated in

|||||

ﬁﬁﬂﬁ%ﬁlﬁﬁﬂﬂﬁﬂﬁ% |s¥rﬁla‘fﬁiﬁ%% e o 2t E e 1o R i el e e | R
aswu@qa@—cléﬁ—cﬁam%|
wﬁqw@mﬁmﬁﬂﬁamaﬁﬁﬁaﬁwwmwﬁmaﬁaﬁm%(ﬁ@rdlpper
9 p), %Nmmwﬁaﬁ?maﬁqm 9T& &I Gl 2, Sl 2 § JIE Al 7141 81 M 3t N &1
WW%?

é(ﬁj P L4 (B)

(C) 12 (D) 16

(E) Question not attempted / ST 997

M9_0 36 P.T.O.
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85 “A cube of side length 6 cm 1s painted red on all its sides. This cube is cut into smaller cubes

=:-

small cubes of side Iength 1 cm will have exactly 3 of its face coloured; green‘?’ 4

“6 U HST 9T Ut 59 % THI B! B @l 3T § ww%isﬂmﬁzﬁw%@%—tﬂéﬁ
H HT2] ST & | Uedeh B 89 U T 7 770 Il mmmlaﬁﬁmﬁrww%fm&%méﬁaﬁm
| S I aTel T § HIST ST & | Iﬁwaﬁﬁﬁﬁ@ﬁﬁ%SWWﬁﬁwfﬁﬂﬁ?’*

= \8) 6% ¢y
- = SR
(E) QuEStiﬂﬂ not ﬂ;ﬁﬂmptﬂd ;’! 9 PEE] ;;" I:E::F_.g..-.::,:::iii:}: B

86 Three statements are given fﬂ"{}WEd by four cmnc]usmn&l II II[ and IV. Assuming the

decide whlch Gf the fﬂl]ﬂwmg cﬂnclusmns 10gmaﬂy fullcw(s) from the statements.
Statements : (A) All squares are boxes. "

......

(B) Some boxes are cnlﬂured-“
(C) Redisacolour. , f
Conclusions : (I) Some boxes are I'Ed

(IT)  Some squares z are red -----

(II1) Some squales ar& cnlﬂured

(IV) Some buxes ale‘ ¢ Hares.

||||||||||||

(A) Only I follows Sy * (B) Only II follows
(C) Only I follows . %, .+ (D) Only IV follows
(E) Questmn not attempt'%d Y

uuuuuu

wﬁﬁw“r@rﬁﬁu?ﬁﬁﬁ?rﬁr mﬁm%ﬁﬁlﬁrﬁaﬁﬁ%aﬁ?—mﬁﬁﬁé Eﬁaﬂ“raa‘rﬁrrﬁa—cﬁﬁtr%r
FYA (A) aH Em‘ 1T 2 |
By s Tl ¥

(C} AT U T & |
femi: /" (D % o9 @
o (I) %t ame €|
(1) Bt o E
“ (1V) g a1
AA) “gpaet I st aea & (B) a 11 SIaReT e
Q) Araet 111 STgaeoT & & (D) @ad [V SIgaTr %l &
(E) eraia usd
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87 “Mirtunjay 1s planning to buy a test series for the CAT exam. Following are the criteria of
selection for any online portal fixed by him: ;

- :r::-%-:-:i'-'::i:;f.
1.  Must contain 25 Full-length mock tests. &
2. Must contain last 8 years previous year papers. .
3. Must have more than 10,000 practice questions on the p{)rtal --------

4. It any portal satisties all the above criteria except (1) but has H‘i’ﬁiﬂ than 20 mock tests

......

and more than 5 previous year papers then he will keep | that shnrtllsted

5. If any portal satisfies all the above criteria except (3) but has mﬂre than 8000 practice

questions and recorded class videos then he will ask: 1115 mentm

“Let’s crack CAT™ 1s providing online test series for CAT At 1s prﬂvldmg 18 mock tests and
5 previous years’ Paper. It 1s also providing 12000 praance questmns

Which of the following is correct for the selectiori ﬂf the online portal given above?”

(A) It will be selected gBh It wm nm be selected

(C) It will be shortlisted (D) Hse will ask his mentor for selection
(E) Question not attempted a _____

“weisa CAT Tar % e us 3@ Sir may

Eﬁﬁ“ ?ﬁr IeT=T §91 @1 & | 39 &1 Maifa fear o
TS Ued & (0T 999 & HHeS H=iTd]

l. zsﬁmﬁaﬁw%&'éﬁﬂﬁm

2. faﬂmsaﬁaaﬁta@rmawéﬁm%m

3. 9Ra X 10 Ooﬂﬁiﬂfﬁ% T U9 B AR |

4. v:rf&aﬂéuﬁa(l)aﬁj’" o ¢ SUYeRT Gl HIGE! Y U BT &, Wi oG U 20 ¥ ik ik
%rea?r(fw?f%‘faafﬁamu&w% al 98 S i B M|

5. uﬁﬂﬁé@lﬁamﬁf@mwﬁﬂﬁﬁmﬁéaﬁww% e 38 91 8000 § a1fere
mﬁﬁ%ﬁﬁmzﬁ%ﬁﬁaﬂéﬁﬁqnq%eﬁa%mw&{@ﬁm

%’E‘HMCAT CAT%%QGWE?W@'&HWM @12 198 18 °isp 22 31 firset awi & 5
&Wmmm%maﬁw 12000 31T 997 4T e % @ & |

W-ﬁrzwwmﬁr&a%ﬁw% fery Freferfiarer & & i @ & 7

LR s@r e S (B) ¥ &l g s
Q). 2% siféfre fan s (D) 9 o Hei & =E % Rrg g
(E) e e
M9_0 38 P.T.O.
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88 “Mr. Yogendra Kumar is looking for a tenant for a vacant 3BHK flat in Lakhsami Nagar,
Delhi. He has fixed some criteria for the selection of tenants for his flat.
a. Must have less than 5 members in the family.

b.  All family members should be vegetarian.

¢.  Must be an Indian national. L% s

d. If any tenant family satisfies all the above criteria except (a) buf*fhas N@T more than 4
adults in the family and the rest are children then he will ask h;s 5{]11 for the same.

e. If any tenant family satisfies all the above criteria except (b}but d6€s NOT cook non-
Veg at home then he wﬂl ask h1s wife for the same. € 2 2

He Iwes with his wife, mother, father and 6 years son and o yeat:ﬁ daughter

All his family members are vegetarian.

Which of the following is correct for the selectmn aﬂf MI‘ Mohan Prasad as tenant by

Mr. Yogendra Kumar?”

(A) He will be selected

(B) He will not be selected 7%

(C) Mr. Yogendra Kumar will ask his Wle

(D) Mr. Yogendra Kumar will ask hlS 5011

(E) Question not attempted i W

W?ﬂﬁaw%ﬁﬁ %Fﬁafl’rwff@ﬁr 3BHKL1%Z ﬁaﬁmﬁmﬁana?rammmﬁ% |

b.
d. afs #iE frREr aiEr (a)aﬁmamt IURISRT GHI ATFGS! I YU BT &, dihd U@ H 49

aﬁﬁmwﬁﬁaﬁ{aﬁlaﬁ%?ﬁ%mﬁﬁﬁ%ﬁﬁﬂ‘@ﬁl
€. aﬁaﬁ%ﬁmﬁaﬂqﬁaﬂ(b %I BIgH SUUFT THI HIFES] &l I &Il &, Wi 89X U A—as
T W &, & o ool & g g g o
W%Ww%wﬁﬁ%aﬁ?ﬂﬁw ool o Uep Tl bl Aa1aT H © | 9 3791 U,
wﬁmmﬁw}éﬁaﬁi4waﬁaﬁﬁamaﬁﬁ% | 3% UTETY % I 4S8 ST & |
W%WWWWW@W%MﬁQM%%qﬁﬁ%ﬁaaﬁ@r?ﬁﬁ—mﬂﬁ

(E) Eﬂ‘:ﬁlﬁﬁ o
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89 “Rony is a model and looking for a personal gym trainer. Following are the selection criteria
for a candidate to get selected for the role of a personal Gym trainer for Rnny -y

a.  Must have completed Bachelors.

b.  Must have work experience of at least 3 years as a Trainer. .
c. If a candidate fulfills criteria (a) and NOT (b) but have dUm:;,

|||||||

personal training, then he will keep that person shortlisted.

d. If a candidate fulfills criteria (b) and NOT (a) but has dt:m@ ﬂfﬁlﬁ‘gl Sl aeae St nntiitiof
and dietetics, then he will ask his manager. & 1

il: &
5

Mikal has done a diploma course in personal training ang% h%ms A years’ experience as a
gym trainer and he 1s a graduate from a premier institute.

s

Which of the following option below 1s correct for ’[hﬁ: selﬁc,tmn of Mikal?”

(A) He will be selected .,_.“,1_:*::#'%:::::;
(B) He will not be selected
(C) He will kEEP that person shortlisted ﬁﬂh

(D) He will ask his manager. f

(E) Question not attempted %

ﬁww%ﬁnwﬁﬁﬁmﬁﬁmaﬁ% | T % 1T Wep saferrer T 297 a1 SfaT o
qmaﬂﬂmﬂ%wﬁmw%ﬁmﬁﬂﬁiﬂﬁ%

a. T O fea B ARl ’
b. uﬂr%%wﬁw—@r—m3ﬂéwma§ﬂaﬁmmﬁm

C. aﬁaﬁéaﬁmﬂm(a)ﬁ}mm%ﬁ(b)@r@ﬁm% TR S feRaTe WieTeqor H

d. Hﬁaﬂéeﬂﬂmm(maﬁ@m%m(maﬁ{mﬁm% ek Tr9oT 3T% SRefeag
frf%ﬁra?rsiﬁm% @raﬁmﬁﬁﬁm@r@ﬁm

ﬁm%mﬁﬁﬂﬂwﬁmﬁ%@maﬁﬁm%mﬁﬁﬂqéﬁ?%wﬁ23&@@3@%@?{&@
WW@W}*I

W%M%ﬁﬂﬁlﬂﬁﬂﬁﬁﬁﬁﬁ?—mﬁwﬁ%?”

(A) wwﬁwﬁm

(B) quﬁmm

_c;((%) a‘@’%‘er TR Bl TS TEE B {eh @

D). T e & g

(E) e 9
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90 “Vipul is shortlisting Universities for the master’s program. He has decided following criteria
for the selection of any University:

a.  Must be situated in the USA or UK. &

b.  Must provide master’s in management program. S

¢c.  Must have a tuition fee of less than USD 30,000. ,_“

d. If any Umiversity fulfill all the criteria except (a) but 1s 51tuate4;1 m Austraha then he

will ask his brother for the selection of University.

e. If any Umversity fulfill all the criteria except (c) but pmﬁda at least 60% - 80%
scholarship on tuition fee, then he will ask his fathar fo the University selection.

The University of Edinburg 1s situated in Ireland UK and pmwdesfa master’s in management
program to all National and International students. Thﬁ '[UIfIEm fee for the master’s program
1s USD 50,000 and provide 75% scholarship to dESEIYIﬂg‘fﬂandldﬂtES

Which of the following is true for the selection of Urmremty by Vipul?”

(A) It will be selected {«Bﬁ It wﬂ] not be selected
(C) He will ask his father ( D) I-FE: will ask his Brother
(E) Question not attempted '*'-%

o arEe qa el ¥ ‘“‘
a. gUEC AT gh H Red w Hr%'zl """""
b. wmﬁmqfrwaaﬁmﬁaﬁmvﬂw%m

c. fareor geh USD 30, Glo‘é‘rao‘ﬁaﬁm%m

d. ﬂﬁﬁéﬁ&ﬂﬁﬂﬁq(ﬂ)aﬁ@ﬁwmwﬂﬁﬁa@laﬁ{nm% wlfepeT aTTeforan o Rera 2,
e. dix g ﬁls (c) Y Blewt o T AFEE B U BT &, AR S BIF W

ao‘rr—@r—@ﬁn 60:“/"-Bb%mmm%ﬁ%mﬁmﬁﬁﬁaﬁwwﬁamtﬁml
gﬁﬁﬁmq&ﬂﬁ:ff AETS gob | RUT & S TH TR IR ST B0 bl & T o
wmmfm FTATE | AT W 3 T e sies USD 50,000 ¥ i g snireamt &t 75%

wq%rmw%i
fﬁgﬁmﬁraafaﬁm%ﬁuw &q F=fdlad o 4 ®F-—a1 del & 77

A g g (B) %0 g
€). 4T T Rrar & g (D) @ 319 A1E | B
(E) s we
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91 “Following 1s the selection criteria for a candidate to get selected for the role of Chief
[Information Officer (CIO) in an organization Finotech:

Must have done B.Tech in computer science with at least 60% marks.

a
b.  Must have done MBA 1n operations.

c.  Must have work experience of at least 2 years as an IT ﬂﬁicet IIIIIII
d.

If a candidate fulfill all the criteria except (a) but has done BCA w1th 8{}% marks, then
the case will be sent to the CEO of the company.

e. If the candidate fulfill all the criteria except (b) but llave mﬁre than 5 years of work
experience, then his case will be sent to the HR Man:agm i

Javed has applied for the post of CIO in Finotech. He has cDmplﬁted his B.Tech with 76%
and MBA with 68% marks. He has a total of 1 year (}f wmk eXperience as an IT officer.”

(A) He will be selected

(B) He will not be selected

(C) His case will be sent to the CEO -
(D) His case will be sent to HR M.ﬂmnﬂgt’-ggj g*

(E) Questmn not attempted a

gHee Fefafeg s 0000 6 S,
a.  HI-9-BH" 60% bl & meg G
b.  aaLei ¥ MBA fiar é‘r?n

%
2
-
fﬁ*
ﬂ:iz
S
d
&
" 3
|
%

af a?l‘a‘aﬂfl’laﬂﬂ (,a) I tmacr.»{ 31T G AIFGS! &l I &l &, dibd 80% siwl % @iy BCA
T gl ¥, Eﬁmﬁﬁ’f” 1% CEOQ i S wraT |

e. Hﬁwﬁaﬂfb)aﬁwwmﬁwﬁaﬁwm% e 5 a9 | offids &1 & AHa
e, ﬁmﬂm@ﬂﬂwwﬁﬁwm |

aﬁﬁﬁmﬁm%ﬁcmﬁsmeﬂaﬁﬁm% | 399 76% & 911 B.Tech 31T 68% 3@l & A1
MBAﬁF&f% | 3% TR 1T aifereprdy % w0 & gt 1 ad &1 i argera & 17

(A) wmrqﬁmﬁﬁmw

(B):. G‘Hmm‘vrﬂ‘é"l%mam

(@) mﬁerEOﬁrﬁwm
(D) mwwwwﬁrﬁmm

(E) omafa ued
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92 Four friends Sachin, Rachit, Raj and Pintu live on separate floors of a 4-floor building, but
not necessarily in the same order. The ground floor 1s numbered 1, the first ﬂﬂ(}]‘ 15 numbered

2, and so on until the topmost floor 1s numbered 4. Sachin does not live on an eveﬁ-nnmbm ed
floor. Only three friends live below the floor on which Pintu lives. Rachlt lwes I]HIIﬁSd]HtE]y

above Sachin.Which floor does Raj live on? E X
(A) ¥ (B) 211{1 _:;?5::?m::;::'“lz;.__:__ i:, 4
(C) 3nd (D) Ath E E?

.....
S,

(E) Question not attempted

IR aRa GfeH, Thad, TSt 3 fi us 4-9i ar ﬂ-lqﬂaimwlmamﬂ'ﬁﬁﬁtﬂ“{%ﬁ% I {oh STel e
i A B | USs W @ g 1 7, qﬂ%qﬁr{a‘é‘rﬂwzi‘ @ﬁ"{zﬁrmwﬁrwiwﬁaﬁ
&1 4 3 1 9fa9 U 99 91 916 FA 9 el @dl © |ﬁzﬁﬂﬂqﬁ1mﬁm%wﬁ%%\aﬁaﬁq
il wed & | Thad, 9 % 3% SUC @dr & | TSt e Tl IT ¢

(A) usd (B) ?@3{ S
(C) | (D) :‘E?:a-'if%:ﬁ:k%ﬁ.

93 Inthe fﬂllDWng questmn contains four pro’blem ﬁgmes and fmu answer ﬁgures marked a,

L )
g
-pﬂ
ﬂ}
o
o)
o
%,
é
—
=3
=,
(g
=
2
S:
=
=y
E
E
m
"\."\.

t A

Answer Figures | TR AT A

o (b) B (@)
::::::'f-"'ﬂ'i'::;:l:::"ﬂ:::: - "’*-:.ﬁ;:‘::-:'-'
(A) " )
({:‘):,,:é (D)

(E) Question not attempted / aftd U9
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94

In the following question contains four problem figures and four answer figures marked a,
b, ¢c and d. Select a figure from amongst the answer figures which will c{}num}e the same
series as given in the problem figures.

forrferiaa wem & @ wa gt S A SO engiaat &, e a, b, ceﬂidﬁﬁ%ﬁﬁmw

Problem Figures / g9&n il

| 3T SATHAl § ¥ IH Ueh ST Bl a9 mtﬁﬁ%ﬁﬂ@”ﬁﬁ@ﬂﬁﬂwf{ﬁﬂé
T |

.....
gl

0&0d

<008

(400

Oolde

Answer Figures / 3T 3mfcal

(A) a
(C) ¢

(E) Question not attempted / Gﬁﬁﬁ‘ﬂ Hﬁﬂ 5

(b)

2

it A
M

(d)

series as given in the pmblem ﬁgureﬁ

Frafefad w9 o 9 9u@l

..........

|||||||

SO STfadr €, Tt a, b, ¢ 3T d fafea fear mar 2|

ma@wﬁwmﬁe@w e % S et T B sy et i e gt 4 i

T |

Problem Figures !' H'iTE‘JIT

i3

Answer Figu res fﬁﬁ'{ & leanpf

\\\\

o5

Ial

E

(b)

(c)

(B) b
(D) d

(E) Question not attempted / ST U9
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Read the passage given below and answer questions that follow : (Q. No. 96-97)
[t 1s 50 yeal s since the Architects Act (1972) was passed to help bmld the mndem pr{}fessmn

value and expanded their professional base. There are now abnut 1,26,000 Ieyatered m‘@hltects
with around 10,000 new registrations every year. However, instead of effusing i izﬂmﬁdence and
success, architects seem to be facing the same dilemmas they confronted 50 ?years ago; the
profession is yet to be recognised in its own right, there is bitter 1wahy w1th its engineering
cousins, low professional fee structures, poor protection from market, fglces and confusion about
the road ahead. Equally perplexing are the solutions proposed and ﬂhaﬂmg the path itself. There
are many who want to seek the legal route, amend the Act and demand th:ﬂt the state protect the
profession further. If history has any lessons to offer, it is theiﬂppcame Acts do not guarantee
excellence. Choking regulations are counterproductive; market forées are powerful and can
countervail barriers to competition. In this context, pursumg a legﬂl route to take on multitudinous
challenges will be unproductive and futile. Instead, architects Gan.do better if th ey abandon archaic
nﬂ’n ons nf pmfessmn bmlt On Narrow Jmsdlctmnal bﬂundanes and focus on bmad-basm g practice,

......

path to securing a professional Aet in architecture Was :nc}t easy Archltectuw emerged as a dIStlIlCt
profession and formed an influential association in th¢ léth century in the United Kingdom, but
that was not the case in lndla There were nﬂt enﬂugh archltects or IIISHTUI'IIDI]S to ensure para]le]
members, many of whﬂm were in Bmmbay W,hen prﬂfessmnallsatmn picked up momentum after
lndependence and professional ]eglslatmn such as the Dentists Act In 1948 and Indian Medical

||||||||

they finally got their Act in 1972

.I"I'u

1. It became a pl{}f&fsﬁmna] course in 1972, thanks to the Architects Act that came into

||||||

3. The pmfessmn has not develmped since 1972 and continues to struggle to be recognised
as &fpmfessmnal qualification on par with engineering.
4. Thé S’tate contiues to utterly neglect the profession and there 1s no clarity about the
ﬂlﬂE]ldl’ﬁE]l’[S being proposed by it to the Architects Act (1972).
l;’i the last 50 years since the passing of the Architects Act (1972) India has seen the
P emﬂl gence of 126,000 new professional architects.
??“:;EE(A) },2,3,4and 5 (B) 4and>5
(=1, 3 and 4 (D) None of these
(E) Question not attempted
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97 Which of the following cannot be construed as an opinion of the author in the context of
the passage? 3
(A) Pursuing a legal course of action whenever there are multitudinous pi‘ﬁf'assn:mal

grievances to address 1s futile in India. — W
(B) Improving professional ethics and quality of services will be a sme—f 1% guarantee for
success of every architect. o

(C) Excellence in any professional field cannot be guaranteed sunply hy passmg an Act
that recognises the profession and thus lends it crediblhty

(D) All of these

(E) Question not attempted

f:' :::F"'s“"::"::ii::;.

Read the passage given below and answer questions that fnllnw" (Q. No. 98-100)

Just Energy Transition Partnershm (JET-P) 1s emer gmé aﬂ Illﬁ key mechamsm for mu]tllateral

......

the Glasgow Pact. After South Afrlca Indr.:mesﬁt Eﬂéld Vlemam India 1s considered the next
candidate for a JET-Partnership. India's G-20 presldency Qﬂuld potentially be an opportune moment
to fﬂrge a deal. Hﬂwevm Indlﬂ must develnp a czphfn ent dnmestic Just Enm oy Tr ElIlSltlDI'l (JET)

JET Partnership? Energy transitions cﬂulf gwe r1se to intra-gener atmnal inter generanﬂnal and
spatial equity concerns. Transitions aﬁ‘éﬁ"ﬁeaf term fossil-dependent jobs, disrupt forms of future
energy access, shrink state's capacity to Spen;;i on welfare programmes, and thus exacerbate existing
economic nequities between cgm] and ﬂther regions. Existing JET-P deals pay limited attention
to intra-generational inequity, such as’ _]ﬂb losses resulting from a coal phase-down. However,

among the three JET-P deals’ mgned so far, only South Africa's deal mentions a "just' component
- funding reskilling and ai‘tﬁﬂ:ﬁw& emplﬂyment nppﬂrrumtles in the coal mining 16519115 to be

||||||

should consider ccral I}h@ﬁﬁ down and how to operationalise India's just transition. The emphasis
by developed, {:c}untnes on coal phase-down, without adequate attention to country context,
disregards - the« oiuclal difference 1n energy transition between industrialised and emerging
ecanﬂmlef Enmgy transition in the industrialised world involves a natural tapering of energy
cﬂnsumpfmn alongside fuel-switching to clean energy sources; India's transition requires
addressing s ighificant simultaneous growth in energy demand. The Central Electricity Authority
prq]ﬂcts a ﬂ:ear doubling of electricity demand by 2030. A country that 1s likely to multiply its
energy deinand requires adequate supply from a diverse mix of sources. India cannot afford to
put its development on hold while decarbonising.
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98 Which of the following statements about JET-P are speciﬁcally implied 1n the passage?
1. It 1s not suitable for India as its socio-economic complexities are way.tpo different

from those existing in countries such as South Africa, Indonesia and fifieﬁ‘t'a:rn which
have successfully adopted this mechanism. #

2. Developing countries desirous of forging a deal under this mechamﬁin ﬁmst first assess
their needs 1n the context of their own internal situation and the challepges unique to

theu muntly ........
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developing countries as receivers.

4. Only three developing countries have so far availed of thlE'. beneﬁt but the insertion of
a certain new condition in the Glasgow Pact Wll] makg it ‘more difficult for new
candidates looking to avail of the same. 1

5. It could be a clever move of the developed cﬂunmﬂs cmnﬂhﬂaged as an olive branch
but designed to fulfil their own selfish motives.ito mpe in the developing countries.

(A) 1,2and3 (B) 1,2 arid-4~

(C) 2and 4 (D) 23 4 and 5

(E) Question not attempted

Fale, X

.........

|||||||

99 As per the passage which of the following ISZEHE é:hailenges likely to be faced by developing
countries seeking to forge a JET-P alliancé with' Th% developed countries?
1. Hawng to deal with the income dlspalmes that are likely to develnp bemreen ’rhe

|||||

3. Not having able and knﬂwledheable negﬂtlatﬂrs in the teams designated to interact
with the team from t}'ne devemped countries that are willing to offer them financial
assistance. %

4. Having to ensur& that"ﬁle developed countries offering financial assistance do
collectively cnmpr&hfnei and deal with, differences in the nature of the economies of
the developini:coutitzies as compared to their own.

5. Not being able to ﬂﬁﬂld the cost of loans that the developed countries are offering
under this méchanism.

(A) 1,2 and4d, (B) 2,3 and 4

(C) 1,2.4.4 and;S (D) 1and4

(E) Questmn not attempted

100 As p@rthe p*&ﬁsage which of the following 1s a significant and justified expectation from the
deﬁlnpmg countries seeking financial assistance from develﬂped countries under JET-P?
(A) Th@t the developing countries must stop mining coal and using it as an energy source.

(B) “T'hat the developing countries must have in place a just energy transition (JET) strategy.
(C)Bﬂﬂl (A) and (B)

(D) Neither (A) nor (B)

(E) Question not attempted
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